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Direction : Answer the following questions

by selecting the correct option.

1. Which one of the following is an

exception to the convention of

conservatism?

(A) Making provision to doubtful

debts in anticipation of actual

bad debtors

(B) Valuation of stock at market

price or cost price whichever is

higher

(C) Charging of small capital item

as revenue

(D) Adopting written-down value

method of depreciation as

against straight-line method

2. Which one of the following is correct

accounting equation?

(A) Asset = Owner’s equity

(B) Asset = Liabilities + Owner’s

             equity

(C) Asset = Liabilities – Owner’s

             equity

(D) Asset + Liabilities = Owner’s

             equity

3. Which one of the following pairs is

not a perfect match?

(A) Suppression of invoice—Window 

dressing

(B) Overcharging of depreciation—

Secret reserve

(C) Omission of cash receipts from

debtors—Understatement of

sales

(D) Omission of credit sales—

Understatement of debtors

[>ìƒ¢[ÅA¡à : Î[k¡A¡ l¡üv¡¹ [>¤¢àW¡> A¡ì¹ >ãìW¡¹ šøÅ—P¡[º¹
l¡üv¡¹ ƒà*¡ú

1. [>³—¤[o¢t¡ ‹à¹oàP¡[º¹ ³ì‹¸ ëA¡à>[i¡ ¹Û¡oÅãºt¡à
³t¡¤àìƒ¹ ¤¸[t¡yû¡³?

(A) ®¡[¤È¸ìt¡ ">àƒàìÚ¹ ‹à¹oàÚ "[>[ÆW¡t¡
šà*>à¹ \>¸ ®¡[¤È¸; ¤¸¤Ñ‚à

(B) ¤à\à¹³èº¸ * yû¡Ú³èìº¸¹ ³ì‹¸ ë™i¡à ë¤Åã
t¡à¹ [®¡[v¡ìt¡ ³\åt¡šìo¸¹ ³èº¸àÚ>

(C) ëáài¡ ³èº‹>ã J¹W¡ìA¡ ³å>àó¡à\àt¡ãÚ J¹W¡
Ko¸ A¡¹à

(D) [Ñ‚¹ [A¡[Ñz š‡ý¡[t¡¹ š[¹¤ìt¢¡ yû¡³ÒùàÎ³à>
[A¡[Ñz š‡ý¡[t¡ìt¡ "¤W¡Ú [>‹¢à¹o

2. >ãìW¡¹ Î³ãA¡¹oP¡[º¹ ³ì‹¸ ëA¡à>[i¡ Ç¡‡ý¡ [ÒÎà¤-
¹Û¡o Î³ãA¡¹o?

(A) Î´š[v¡ = ³à[ºìA¡¹ ÒüAå¡¸Òü[i¡

(B) Î´š[v¡ = ƒàÚ + ³à[ºìA¡¹ ÒüAå¡¸Òü[i¡

(C) Î´š[v¡ = ƒàÚ – ³à[ºìA¡¹ ÒüAå¡¸Òü[i¡

(D) Î´š[v¡ + ƒàÚ = ³à[ºìA¡¹ ÒüAå¡¸Òü[i¡

3. [>ì³—¹ ë\àØl¡P¡[º¹ ³ì‹¸ ëA¡à>[i¡ìt¡ Î´šèo¢ [³º
ë>Òü?

(A) [¤¤¹oã ëW¡ìš ™à*Úà—l¡üÒü>ìl¡à ël¡ö[Î}

(B) "[t¡[¹v¡û¡ "¤W¡Ú—P¡œ¡ Î[e¡[t¡

(C) šà*>àƒà¹ ë=ìA¡ šà*Úà >Kƒ "=¢ >à
ëƒJàì>à—A¡³ [¤yû¡Ú ëƒJàì>à

(D) ¤àA¡ã [¤yû¡Ú >à ëƒJàì>à—ëƒ>àƒàì¹¹ A¡³
³èº¸àÚ>
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4. Which one of the following is correct

with respect to going concern

convention?

(A) The enterprise is not going to

terminate its operation in the

period ahead

(B) The enterprise may go out of

business in the next accounting

period

(C) The enterprise may not divert or 

diversify its operational spheres

(D) The enterprise may not revalue

its asset during the current

accounting period

5. Which one of the following items is

considered as revenue expenditure?

(A) Expenditure by the way of

maintenance for increased

productivity

(B) Repair of a car engine for

enhancement of operational life

(C) Complete overhaul of a

machine, spending around 22%

of its value

(D) Changing a small component of

a machine to maintain its

operational efficiency

6. During shifting to their new

building, M/s XYZ  Ltd. has spend

R 20,000 for pulling down the old

structure and R 2,000 for shifting of

stock to new building. These

expenditures are to be classified as

(A) capital expenditure

(B) revenue expenditure

(C) capital expenditure and revenue 

expenditure respectively

(D) deferred revenue expenditure

4. ¤¸¤ÎàìÚ W¡º³à> ‹à¹oà¹ š[¹ìšø[Û¡ìt¡ >ãìW¡¹
ëA¡à>[i¡ Ç¡‡ý¡?

(A) ¤¸¤Îà t¡à¹ A¡à™¢à¤ºã "àKà³ã [ƒì> ¤Þê¡
A¡¹ì¤ >à

(B) "àKà³ã [ÒÎà¤-¤ìÈ¢ ¤¸¤Îà ¤Þê¡ Òìt¡ šàì¹

(C) ¤¸¤Îà t¡à¹ ¤¸¤ÎàìÚ¹ [ƒA¡ š[¹¤t¢¡>
A¡¹ì¤ >à

(D) W¡º[t¡ [ÒÎà¤A¡àìº ¤¸¤ÎàìÚ¹ Î´š[v¡¹
šå>³¢èº¸àÚ> Òì¤ >à

5. [>ì³—¹ J¹W¡P¡[º¹ ³ì‹¸ ëA¡à>[i¡ ³å>àó¡à\àt¡ãÚ
J¹W¡?

(A) ¤àØl¡[t¡ l¡ü;šàƒ>Åãºt¡à¹ \>¸ ¹Û¡oàì¤Û¡o
J¹W¡

(B) Operational life ¤õ[‡ý¡¹ \>¸ KàØl¡ã¹
Òü[g> ë³¹à³t¡

(C) ³èìº¸¹ šøàÚ 22% J¹W¡ A¡ì¹ &A¡[i¡
ë³[Åì>¹ ®¡àº®¡àì¤ š¹ãÛ¡à A¡ì¹ ë³¹à³t¡

(D) A¡³¢ƒÛ¡t¡à ¤õ[‡ý¡¹ \>¸ &A¡[i¡ ë³[Åì>¹ ëáài¡ 
™”|à}Å š[¹¤t¢¡>

6. >tå¡> ¤àØl¡ãìt¡ Ñ‚à> š[¹¤t¢¡ì>¹ Î³Ú XYZ

[º[³ìi¡l¡ šåì¹àì>à ‹òàW¡à ®¡àR¡à ¤à¤ƒ 20,000

i¡àA¡à * ³\åt¡ šo¸ Ñ‚à>à”z¹ ¤à¤ƒ 2,000 i¡àA¡à
J¹W¡ A¡¹º¡ú &Òü J¹W¡P¡[ºìA¡ ¤ºà ë™ìt¡ šàì¹

(A) ³èº‹>ã J¹W¡

(B) ³å>àó¡à\àt¡ãÚ J¹W¡

(C) ™=àyû¡ì³ ³èº‹>ã * ³å>àó¡à\àt¡ãÚ J¹W¡

(D) [¤º[´¬t¡ ³å>àó¡à\àt¡ãÚ J¹W¡
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7. Preparation of Trial Balance helps

mainly in

(A) summarising business

         transactions

(B) verifying that ‘GAAP’ has been

observed

(C) finalising the sources and uses

of fund’s statement

(D) locating errors, if any, in the

books of accounts

8. If

Opening stock = R 2,45,000
Purchase = R 15,00,000
Sales = R 17,40,000

and the rate of gross profit = 20% on 
cost of goods sold, then the closing
stock would be

(A) R 3,53,000

(B) R 2,95,000

(C) R 2,45,000

(D) R 1,95,000

9. Income earned but not yet received

is treated as

(A) asset

(B) liability

(C) loss

(D) capital

10. The capital of a firm is R 80,000. The 

reasonable return in the industry is

7·5%. If the profits earned by the

firm during last five years were

R 8,000, R 9,000, R 7,000, R 8,500

and R 10,000, then the superprofit

of the firm is

(A) R 2,000

(B) R 2,500

(C) R 3,000

(D) R 3,500

7. ë¹*Úà [³º ëA¡à>[i¡ìt¡ ÎàÒà™¸ A¡ì¹?

(A) ¤¸¤Îà[ÚA¡ ëº>ìƒì>¹ Î}[Û¡œ¡A¡¹o

(B) Îà‹à¹o®¡àì¤ KõÒãt¡ [ÒÎà¤ÅàìÑ|¹ >ã[t¡
šà[ºt¡ ÒìÚìá [A¡>à ëƒJà

(C) ó¡à“¡-&¹ l¡ü;Î &¤} ¤¸¤Òà¹ ¤à¹ A¡¹à

(D) [ÒÎà¤ ¤Òü-&¹ ®å¡º ¤à¹ A¡¹à

8. ™[ƒ šøà¹[´±A¡ ³\åt¡ (*ìš[>} Ð¡A¡)
2,45,000 i¡àA¡à, yû¡Ú 15,00,000 i¡àA¡à,
[¤yû¡Ú 17,40,000 i¡àA¡à ÒÚ &¤} NøÎ ºà®¡
A¡Ð¡ "¤ P¡l¡Î ëÎàÁ¡-&¹ 20% ÒÚ t¡àÒìº
ëÅÈ Î´±à¹ (ëAÃ¡à[\} Ð¡A¡)-&¹ ³èº¸ Òì¤

(A) 3,53,000 i¡àA¡à

(B) 2,95,000 i¡àA¡à

(C) 2,45,000 i¡àA¡à

(D) 1,95,000 i¡àA¡à

9. "àÚ ÒìÚìá "=W¡ Òàìt¡ "àìÎ[>, t¡àìA¡ ¤ºà ÒÚ

(A) Î´š[v¡

(B) ƒàÚ

(C) Û¡[t¡

(D) ³èº‹>

10. ³èº‹> 80,000 i¡àA¡à, &Òü \àt¡ãÚ [Åì¿¹
Îà‹à¹ot¡ ºàì®¡¹ Òà¹ 7·5%. ™[ƒ Kt¡ šòàW¡
¤;Îì¹ ºàì®¡¹ š[¹³ào 8,000, 9,000,
7,000, 8,500 &¤} 10,000 i¡àA¡à ÒÚ t¡ì¤
Îåšà¹šø[ó¡i¡ Òì¤

(A) 2,000 i¡àA¡à

(B) 2,500 i¡àA¡à

(C) 3,000 i¡àA¡à

(D) 3,500 i¡àA¡à
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11. A and B  are the partners in a firm

sharing profit and losses in the ratio 

of 2 : 3. C , a new partner is admitted 

for 1/4th share. The new profit-

sharing ratio of A, B  and C  would be

(A) 1 : 1 : 1

(B) 2 : 3 : 4

(C) 1 : 2 : 2

(D) 6 : 9 : 5

12. Call option is

(A) a contract to buy a certain

number of shares at a stated

price within a specific period of

time

(B) a contract to sell certain

number of shares at a stated

price within a specific period of

time

(C) the option of issuing company to 

demand the shareholders to pay 

for partly paid shares

(D) the option available to the

convertible debenture holders to 

demand equity shares in

conversion of debentures

13. Provisions are amounts set aside out 

of profit and other surpluses for

(A) meeting a liability, the amount

which can be determined with

exact figure

(B) any known liability which the

amount cannot be determined

with substantial accuracy

(C) meeting an eventuality arising

out of revaluation of asset in

ordinary course of business

(D) meeting a liability arising out of

arbitration

11. 2 : 3 ">åšàìt¡ A &¤} B  &A¡[i¡ "}Åãƒà¹ã
šø[t¡Ë¡àì>¹ ºà®¡ * Û¡[t¡ ®¡àK A¡ì¹ ë>Ú¡ú t¡à¹à
1/4 (&A¡ W¡tå¡=¢à}Å) "}Å ëÅÚàì¹¹ \>¸ CëA¡
"”z®¢å¡v¡û¡ A¡¹ìº >tå¡> ºà®¡-Û¡[t¡ ¤si¡ì>¹ ">åšàt¡ 
Òì¤

(A) 1 : 1 : 1

(B) 2 : 3 : 4

(C) 1 : 2 : 2

(D) 6 : 9 : 5

12. A¡º "šôÅ> ÒìZá

(A) [>[ƒ¢Ê¡ ³èìº¸ [>[ƒ¢Ê¡ š[¹³ào ëÅÚà¹ [>[ƒ¢Ê¡
Î³ìÚ¹ ³ì‹¸ yû¡Ú A¡¹à¹ Wå¡[v¡û¡

(B) [>[ƒ¢Ê¡ ³èìº¸ [>[ƒ¢Ê¡ š[¹³ào ëÅÚà¹ [>[ƒ¢Ê¡
Î³ìÚ¹ ³ì‹¸ [¤yû¡Ú A¡¹à¹ Wå¡[v¡û¡

(C) "à}[ÅA¡ šøƒv¡ ëÅÚàì¹¹ ëÛ¡ìy ëA¡à´šà>ã
A¡t¢õ¡A¡ i¡àA¡à W¡à*Úà¹ l¡üšàÚ

(D) A¡>®¡àìi¢¡¤º ˜¡ošìy¹ š[¹¤ìt¢¡ ÒüAå¡¸Òü[i¡
ëÅÚàì¹¹ ƒà¤ã

13. ë™ A¡à¹ìo ®¡[¤È¸; ¤¸¤Ñ‚à¹ >àì³ i¡àA¡à Î[¹ìÚ
¹àJà ÒÚ, t¡à Òº

(A) Î[k¡A¡®¡àì¤ [>o¢Ú A¡¹à ™àÚ &³> ƒàÚ
ë³i¡àì>à¹ \>¸

(B) Î[k¡A¡®¡àì¤ [>o¢Ú A¡¹à ™àÚ >à &³> ëA¡à>
®¡[¤È¸; ƒàÚ ë³i¡àì>à¹ \>¸

(C) ¤¸¤ÎàìÚ¹ Îà‹à¹o A¡³¢A¡àìr¡¹ ³ì‹¸ Î´š[v¡ 
šå>³¢èº¸àÚ>\[>t¡ Qi¡>à¹ \>¸

(D) ³à³ºà¹ ó¡ºÑ¬¹ê¡š ÎõÊ¡ ëA¡à> ƒàÚ ë³i¡àì>à¹
\>¸
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14. A trader does not keep a complete

set of books and gives the following

information :

Started business with R 10,000 on
1st June, 2014. Drawings @ R 500
for the last six months. Further
capital introduced during the year
R 2,000. On 31st Dec, 2014, his
total asset was R 23,700 and his
creditors were R 3,000 on the same
date. Outstanding expenses on that
date were R 500.

His net profit during the year would
be

(A) R 11,200

(B) R 11,500

(C) R 13,000

(D) R 14,200

15. Which of the following fixed assets is 

not depreciated in the ordinary

circumstances?

(A) Plant and machinery

(B) Building

(C) Land

(D) Equipments

16. The purchase price of a software

that will be used for more than 12

months should be regarded as a/an

(A) revenue expenditure

(B) capital expenditure

(C) long-term expense

(D) accounting period expense

17. Cost of a fixed asset – Accumulated

depreciation expenses of the fixed

asset =

(A) Book value of the fixed asset

(B) Market value of the fixed asset

(C) Historical cost of the fixed asset

(D) Recoverable amount of the fixed

asset

14. &A¡\> ¤¸¤ÎàÚã [>Ú³ ">å™àÚã Î´šèo¢¹ê¡ìš [ÒÎà¤ 
¹àìJ> >à¡ú t¡à¹ [ÒÎà¤ ë=ìA¡ [>³—[º[Jt¡ t¡=¸
šà*Úà ëKº¡:
1 \å> 2014 t¡à[¹ìJ 10,000 i¡àA¡à ³èº‹ì>
¤¸¤Îà Ç¡¹ç¡ A¡¹º¡ú Kt¡ áÚ ³àìÎ 500 i¡àA¡à
Òàì¹ ³à[ÎA¡ l¡ö[Ú}¡ú ³èº‹> [ÒÎàì¤ "à¹*
2,000 i¡àA¡à ¤¸¤ÎàìÚ [ƒº¡ú 31 [l¡ìÎ´¬¹
2014 t¡à[¹ìJ ë³ài¡ Î´š[v¡ 23,700 i¡àA¡à
&¤} t¡à¹ šà*>àƒà¹-&¹ š[¹³ào 3,000 i¡àA¡à¡ú 
' t¡à[¹ìJ t¡à¹ "šøƒv¡ J¹W¡ [áº 500 i¡àA¡à¡ú
' ¤;Îì¹ t¡à¹ >ãi¡ ³å>àó¡à Òì¤

(A) 11,200 i¡àA¡à

(B) 11,500 i¡àA¡à

(C) 13,000 i¡àA¡à

(D) 14,200 i¡àA¡à

15. Îà‹à¹o®¡àì¤ [>ì³—¹ ëA¡à>ô Î´š[v¡¹ "¤W¡Ú ‹¹à
ÒÚ >à?

(A) šÃ¸à–i¡ &¤} ë³[Å>šy

(B) ƒàºà>

(C) ®è¡[³

(D) ™”|šà[t¡

16. &A¡[i¡ Îóô¡iô¡*Úà¹ ë™[i¡ 12 ³àìÎ¹ ë¤Åã ¤¸¤Òê¡t¡
Òì¤ t¡à¹ yû¡Ú³èº¸ìA¡ ‹¹à Òì¤ &A¡[i¡

(A) ³å>àó¡à\àt¡ãÚ ¤¸Ú

(B) ³èº‹>\àt¡ãÚ ¤¸Ú

(C) ƒãQ¢A¡àºã> J¹W¡

(D) [ÒÎà¤ Î³ÚA¡àºã> J¹W¡

17. Ñ‚àÚã Î´š[v¡¹ ƒà³ – t¡à¹ l¡üš¹ ë³ài¡ "¤W¡ìÚ¹
š[¹³ào =

(A) Ñ‚àÚã Î´š[v¡¹ ¤åA¡ ®¡¸àºå ([ÒÎà¤³t¡ ³èº¸)

(B) Ñ‚àÚã Î´š[v¡¹ ¤à\à¹³èº¸

(C) Ñ‚àÚã Î´š[v¡¹ "t¡ãt¡ ¤¸Ú

(D) Ñ‚àÚã Î´š[v¡¹ šå>¹ç¡‡ý¡à¹ì™àK¸ ³èº¸
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18. Which of the following result in

unadjusted cash book balance?

(A) Outstanding cheque

(B) Unpresented cheque

(C) Deposit in transit

(D) Omission of bank charges

19. In the bank reconciliation

statement, ‘deposit in transit’ is

usually

(A) subtracted from bank balance

(B) added to bank balance

(C) added to cash book balance

(D) subtracted from cash book

balance

20. From the following adjusting double

entries, find the correct one for

prepaid expenses.

(A) Debit = Expenses, Credit =

Prepaid expenses

(B) Debit = Prepaid expenses, Credit 

= Expenses

(C) Debit = Cash, Credit = Prepaid

expenses

(D) Debit = Expenses, Credit = Cash

21. Which of the following is a common

base for preparing a Trial Balance?

(A) Ledger Account

(B) General Journal

(C) Specialised Journal

(D) Balance Sheet

18. [>ì³—¹ ëA¡à>[i¡¹ \>¸ >Kƒà> ¤[Ò¹ "[³ºAõ¡t¡
ë\¹-&¹ l¡üŠ±¤ ÒÚ?

(A) "àl¡üi¡Ð¡¸à[r¡} ëW¡Aô¡

(B) "à>ìšøì\ì–i¡i¡ ëW¡Aô¡

(C) [l¡ìšà[\i¡ Òü> i¡öà>[\i¡

(D) ¤¸àS¡ W¡à\¢ ¤àƒ ëƒ*Úà

19. ¤¸àìS¡¹ [ÒÎà¤ Î³ÞÚA¡à¹ã [¤¤¹oã šøÑñìt¡
‘[l¡ìšà[\i¡ Òü> i¡öà>[\i¡’ëA¡ Îà‹à¹ot¡

(A) ¤¸àS¡ ¤¸àìºX ë=ìA¡ ¤àƒ ëƒ*Úà ÒÚ

(B) ¤¸àS¡ ¤¸àìºX-&¹ Îàì= ë™àK A¡¹à ÒÚ

(C) >Kƒà> ¤[Ò¹ ¤¸àìºX-&¹ Îàì= ë™àK A¡¹à
ÒÚ

(D) >Kƒà> ¤[Ò¹ ¤¸àìºX ë=ìA¡ ¤àƒ ëƒ*Úà ÒÚ

20. "[Nø³ šøƒv¡ J¹W¡ [³ºA¡¹ìo¹ \>¸ >ãìW¡¹ ëA¡à>[i¡ 
Ç¡‡ý¡?

(A) ël¡[¤i¡ = J¹W¡ [ÒÎà¤, ëyû¡[l¡i¡ = "[Nø³
šøƒv¡ J¹W¡ [ÒÎà¤

(B) ël¡[¤i¡ = "[Nø³ šøƒv¡ J¹W¡ [ÒÎà¤,
ëyû¡[l¡i¡ = J¹W¡ [ÒÎà¤

(C) ël¡[¤i¡ = >Kƒ [ÒÎà¤, ëyû¡[l¡i¡ = "[Nø³
šøƒv¡ J¹W¡ [ÒÎà¤

(D) ël¡[¤i¡ = J¹W¡ [ÒÎà¤, ëyû¡[l¡i¡ = >Kƒ
[ÒÎà¤

21. Îà‹à¹o®¡àì¤ [>³—[º[Jt¡ ëA¡à>[i¡ ë=ìA¡ ë¹*Úà
[³º šøÑñt¡ A¡¹à ÒÚ?

(A) J[t¡Úà>

(B) Îà‹à¹o \àì¤ƒà

(C) [¤ìÅÈ \àì¤ƒà

(D) l¡ü‡t¢¡-šy
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22. When is the Trial Balance generally

prepared?

(A) Frequently during the year

(B) At the end of accounting period

(C) At the end of a month

(D) At the end of a year

23. Mention the correct sequence of

accounting process.

(A) Communicating ® Recording ®

Identifying

(B) Recording ® Communicating ®

Identifying

(C) Identifying ® Recording ®

Communicating

(D) Identifying ® Communicating ®

Recording

24. ‘Equity’ means

(A) cash from the business

(B) liability of a business

(C) owner’s claim on total asset

(D) owner’s claim on total liabilities

25. What implies for double entry?

(A) Recording entries in journal

(B) Recording entries in ledger

account

(C) Recording two aspects of every

transaction

(D) Recording every transaction in

books

22. Îà‹à¹ot¡ ë¹*Úà [³º A¡J> šøÑñt¡ A¡¹à ÒÚ?

(A) ¤;Îì¹¹ [¤[®¡Ä Î³ìÚ

(B) [ÒÎà¤A¡àìº¹ ëÅìÈ

(C) ³àìÎ¹ ëÅìÈ

(D) ¤;Îì¹¹ ëÅìÈ

23. [ÒÎà¤ A¡àì™¢¹ ëA¡à>ô yû¡³à>åÎà¹[i¡ Ç¡‡ý¡?

(A) `¡àt¡A¡¹o ® [º[š¤‡ý¡A¡¹o ® [W¡[Òû¡t¡A¡¹o

(B) [º[š¤‡ý¡A¡¹o ® `¡àt¡A¡¹o ® [W¡[Òû¡t¡A¡¹o

(C) [W¡[Òû¡t¡A¡¹o ® [º[š¤‡ý¡A¡¹o ® `¡àt¡A¡¹o

(D) [W¡[Òû¡t¡A¡¹o ® `¡àt¡A¡¹o ® [º[š¤‡ý¡A¡¹o

24. ‘ÒüAå¡¸Òü[i¡’-&¹ "=¢ ÒìZá

(A) ¤¸¤ÎàìÚ¹ >Kƒ

(B) ¤¸¤ÎàìÚ¹ ƒàÚ

(C) ë³ài¡ Î´š[v¡¹ l¡üš¹ ³à[ºìA¡¹ ƒà¤ã

(D) ë³ài¡ ƒàìÚ¹ l¡üš¹ ³à[ºìA¡¹ ƒà¤ã

25. [ÒÎàì¤¹ ƒåÒü t¡¹ó¡à š‡ý¡[t¡ [A¡?

(A) \àì¤ƒàÚ [º[š¤‡ý¡ A¡¹à

(B) J[t¡Úàì> [º[š¤‡ý¡ A¡¹à

(C) šøìt¡¸A¡ ëº>ìƒì>¹ ƒåÒü¹A¡³ [ƒA¡ [º[š¤‡ý¡
A¡¹à

(D) šøìt¡¸A¡ ëº>ìƒì>¹ [ÒÎà¤ [º[š¤‡ý¡ A¡¹à
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26. Find the nominal account from the

following.

(A) Machinery A/c

(B) Building A/c

(C) Creditors A/c

(D) Rent expenses A/c

27. The written agreement of partner-

ship is most commonly referred as

(A) agreement

(B) partnership deed

(C) partnership account

(D) partnership act

28. Which is the correct double entry for 

realisation of profit at the time of

dissolution of partnership?

(A) Debit Realisation, Credit Bank

(B) Debit Bank, Credit Realisation

(C) Debit Realisation, Credit

Partner’s Capital

(D) None of the above

29. What will happen if bad debt is not

recorded by a firm by mistake?

(A) Net profit would decrease

(B) Net profit would increase

(C) Gross profit would overstate

(D) Gross profit would understate

26. >ãìW¡¹ ëA¡à>[i¡ "àÚ-¤¸Ú-&¹ [ÒÎà¤?

(A) ë³[Å>à¹ã A/c

(B) [¤[Á¡} A/c

(C) ëyû¡[l¡i¡¹Îô A/c

(D) ë¹–i¡ &GìšìXÎ A/c

27. "}Åãƒà¹ã A¡à¹¤àì¹¹ [º[Jt¡ Wå¡[v¡û¡ìA¡ ¤ºà ÒÚ

(A) Wå¡[v¡û¡

(B) "}Åãƒà¹ã Wå¡[v¡û¡šy

(C) "}Åãƒà¹ã [ÒÎà¤

(D) "}Åãƒà¹ã "àÒü>

28. "}Åãƒà¹ã A¡à¹¤àì¹¹ [¤ìºàšÎà‹> [ÒÎàì¤¹
ëÛ¡ìy ‘[¹ìÚºàÒüì\Å> "¤ šø[ó¡i¡’-&¹ \>¸ ƒåÒü
t¡¹ó¡à [ÒÎà¤ š‡ý¡[t¡ ">å™àÚã ëA¡à>ô ƒà[Jºà[i¡
Ç¡‡ý¡?

(A) ël¡[¤i¡ [¹ìÚºàÒüì\Å>, ëyû¡[l¡i¡ ¤¸àS¡

(B) ël¡[¤i¡ ¤¸àS¡, ëyû¡[l¡i¡ [¹ìÚºàÒüì\Å>

(C) ël¡[¤i¡ [¹ìÚºàÒüì\Å>, ëyû¡[l¡i¡
"}Åãƒà¹ìƒ¹ ¤¸[v¡û¡Kt¡ [ÒÎà¤

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

29. ®å¡ºyû¡ì³ ™[ƒ [ÒÎàì¤ Aå¡˜¡o [º[š¤‡ý¡ A¡¹à >à ÒÚ
t¡à¹ ó¡º [A¡ Òì¤?

(A) >ãi¡ ³å>àó¡à A¡³ì¤

(B) >ãi¡ ³å>àó¡à ¤àØl¡ì¤

(C) ë³ài¡ ³å>àó¡à ë¤Åã ëƒJàì¤

(D) ë³ài¡ ³å>àó¡à A¡³ ëƒJàì¤
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30. Mr. Maniram, who holds 100 shares 

of 10 each, fails to pay a final call of 

R 2. The directors forfeited all the

shares and subsequently reissued

50 shares at R 6 as fully paid. The

amount to be transferred to capital

reserve would be

(A) R 200

(B) R 300

(C) R 400

(D) R 800

31. XYZ  Ltd. issues 3000, 15%

debentures of R 100 each at a

discount of 7·5% repayable at a

premium of 5% at the end of 5 years. 

The loss on issue of debentures will

be

(A) R 22,500

(B) R 30,000

(C) R 37,500

(D) R 45,000

32. Which of the following is not

prepared by non-profit organisation?

(A) Receipts and Payments A/c

(B) Income and Expenditure A/c

(C) Balance Sheet

(D) Income Statement

33. Identify the correct formula to

ascertain the closing balance of

capital.

(A) Opening capital + Net income –

Drawing – Asset = Closing

capital

(B) Closing capital = Opening

capital + Net loss – Drawing

(C) Closing capital = Opening

capital + Asset + Income –

Expense

(D) Closing capital = Opening

capital + Net income – Drawing

30. 2 i¡àA¡à ƒì¹ ó¡àÒü>àº A¡º >à [ƒìt¡ šà¹à¹ ó¡ìº
Åøã ³[o¹àì³¹ 100 ëÅÚà¹ ¤àì\Úàœ¡ A¡¹à Òº
&¤} ¤àì\Úàœ¡Aõ¡t¡ ëÅÚàì¹¹ ë=ìA¡ 50[i¡ ëÅÚà¹
6 i¡àA¡à ƒì¹ šèo¢³èìº¸ šå>[¤¢[ºA¡¹o A¡¹º¡ú &¹
ó¡ºÑ¬¹ê¡š A¡t¡ i¡àA¡à ³èº‹>ã Î[e¡[t¡¹ [ÒÎàì¤
™àì¤?

(A) 200 i¡àA¡à

(B) 300 i¡àA¡à

(C) 400 i¡àA¡à

(D) 800 i¡àA¡à

31. XYZ  [º[³ìi¡l¡ 7·5% "¤Òàì¹ 100 i¡àA¡à
³èìº¸¹ 3000 ˜¡ošy [¤[º A¡¹º ë™P¡ìºà
5¡ ¤;Î¹ šì¹ 5% "[‹Òàì¹ ëó¡¹t¡ì™àK¸¡ú &Òü
[¤[ºA¡¹ìo Û¡[t¡¹ š[¹³ào Òì¤

(A) 22,500 i¡àA¡à

(B) 30,000 i¡àA¡à

(C) 37,500 i¡àA¡à

(D) 45,000 i¡àA¡à

32. "³å>àó¡àì®¡àKã šø[t¡Ë¡àì> >ãìW¡¹ ëA¡à>[i¡ šøÑñt¡
A¡¹à ÒÚ >à?

(A) "àƒà>-šøƒà> [ÒÎà¤

(B) "àÚ-¤¸Ú-&¹ [ÒÎà¤

(C) l¡ü‡t¢¡-šy

(D) "àÚ [¤¤¹oã

33. ³èº‹ì>¹ "[”z³ (¤;Î¹à”z) ë\¹ [>‹¢à¹ìo¹ Ç¡‡ý¡
Îèy ëA¡à>[i¡?

(A) šøà¹[´±A¡ ³èº‹> + >ãi¡ "àÚ – l¡ö[Ú} –
Î´š[v¡ = "[”z³ ³èº‹> 

(B) "[”z³ ³èº‹> = šøà¹[´±A¡ ³èº‹> + >ãi¡
Û¡[t¡ – l¡ö[Ú}

(C) "[”z³ ³èº‹> = šøà¹[´±A¡ ³èº‹>
+ Î´š[v¡ + "àÚ – J¹W¡

(D) "[”z³ ³èº‹> = šøà¹[´±A¡ ³èº‹> + >ãi¡
"àÚ – l¡ö[Ú}
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34. The statement of financial position

produced from incomplete

accounting record is commonly

known as

(A) Balance Sheet

(B) cash-flow statement

(C) statement of affairs

(D) statement of financial position

35. An entry which is made on both

sides of a cash book is called

(A) cash entry

(B) contra entry

(C) payment entry

(D) compound entry

36. A company can reissue its forfeited

shares

(A) at a premium

(B) at a face value

(C) at a discount

(D) All of the above

37. Which of the following is not a

component of ‘SWOT’?

(A) Threats

(B) Strength

(C) Weakness

(D) Option

34. "Î³àœ¡ [ÒÎà¤ ¤Òü ë=ìA¡ "à[=¢A¡ "¤Ñ‚à¹ ë™
[¤¤¹oã šøÑñt¡ A¡¹à ÒÚ t¡àìA¡ ¤ìº

(A) l¡ü‡t¢¡-šy

(B) >Kƒ šø¤àÒ [¤¤¹oã

(C) Î´š[v¡ * ƒàìÚ¹ [¤¤¹oã

(D) "à[=¢A¡ "¤Ñ‚à¹ [¤¤¹oã

35. >Kƒà> ¤[Ò¹ ƒåÒü [ƒìA¡Òü ƒà[Jºà [ƒìt¡ ÒÚ &³>
ƒà[JºàìA¡ ¤ìº

(A) A¡¸àÅ &[–i¡ö

(B) A¡–i¡öà &[–i¡ö

(C) ëšì³–i¡ &[–i¡ö

(D) A¡³šàl¡ü“¡ &[–i¡ö

36. &A¡[i¡ ëA¡à´šà>ã t¡à¹ ¤àì\Úàœ¡Aõ¡t¡ ëÅÚà¹
šè>[¤¢[º A¡¹ìt¡ šàì¹

(A) "[‹Òàì¹

(B) "àÎº ³èìº¸

(C) "¤Òàì¹

(D) l¡üšì¹¹ Î¤P¡[º

37. [>ì³—¹ ëA¡à>[i¡ ‘SWOT’-&¹ l¡üšàƒà> >Ú?

(A) ë=øi¡

(B) ëÐ¡ö}=

(C) l¡üÒüA¡ì>Î

(D) "šôÅ>
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38. Establishment expenses of a new

machine will be debited to

(A) Expenses A/c

(B) Profit and Loss A/c

(C) Machinery A/c

(D) None of the above

39. Goodwill is

(A) floating asset

(B) wasting asset

(C) fictitious asset

(D) intangible asset

40. Discount on issue of share A/c is

shown at the

(A) debit side of P&L A/c

(B) asset side of Balance Sheet

(C) liabilities side of Balance Sheet

(D) None of the above

41. What is reduction of paid-up capital

called?

(A) External reconstruction

(B) Internal reconstruction

(C) Reorganisation

(D) Redemption of capital

38. &A¡[i¡ >tå¡> ë³[Åì>¹ Ñ‚àš>\[>t¡ ¤¸Ú ël¡[¤i¡
A¡¹à ÒÚ

(A) J¹W¡ [ÒÎà¤Jàìt¡

(B) ºà®¡ * Û¡[t¡ [ÒÎà¤Jàìt¡

(C) ë³[Å> [ÒÎà¤Jàìt¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

39. Îå>à³ Òº

(A) ®¡àÎ³à> Î´š[v¡

(B) Û¡[ÚÌå¡ Î´š[v¡

(C) A¡à¿[>A¡ Î´š[v¡

(D) "ƒõÅ¸ Î´š[v¡

40. [l¡ÎA¡àl¡ü–i¡ "> ÒüÎå "¤ ëÅÚà¹ [ÒÎà¤Jàt¡
ëƒJàì>à ÒÚ

(A) ºà®¡ * Û¡[t¡ [ÒÎàì¤¹ ël¡[¤i¡ [ƒìA¡

(B) l¡ü‡t¢¡-šìy¹ Î´š[v¡¹ [ƒìA¡

(C) l¡ü‡t¢¡-šìy¹ ƒàìÚ¹ [ƒìA¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

41. "àƒàÚãAõ¡t¡ šòå[\¹ ºQåA¡¹oìA¡ ¤ºà ÒÚ

(A) ¤à[Ò¸A¡ šå>K¢k¡>

(B) "à®¡¸”z¹ão šå>K¢k¡>

(C) šå>K¢k¡>

(D) šåòò[\ ëó¡¹t¡
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42. New profit-sharing ratio is

calculated at the time of

(A) admission of a new partner

(B) retirement of a partner

(C) death of a partner

(D) All of the above

43. Consider the following :

‘Amortisation’ generally refers to
writing off the value of

1. tangible assets

2. intangible assets

3. fictitious assets

Which of the above is/are correct?

(A) 1 and 2

(B) 2 and 3

(C) 1 only

(D) 2 only

44. What is the method, in which an

amount equal to the amount written 

off as depreciation is invested in

outside securities in order to

facilitate replacement of an asset at

the expiry of its life period, called?

(A) Annuity method

(B) Sinking fund method

(C) Replacement method

(D) Depletion method

45. ‘Blue chip’ share means

(A) those shares which are listed in

stock exchange

(B) those shares whose guarantee is 

given by government

(C) those shares on whom dividend

is paid at higher rate regularly

(D) those shares which are issued

first time

42. >tå¡> ºà®¡ * Û¡[t¡¹ ">åšàt¡ [>o¢Ú A¡¹à ÒÚ

(A) >tå¡> "}Åãƒàì¹¹ "}ÅNøÒìo¹ Î³Ú

(B) "}Åãƒàì¹¹ "¤Î¹ NøÒìo¹ Î³Ú

(C) "}Åãƒàì¹¹ ³õtå¡¸ Òìº šì¹

(D) l¡üšì¹¹ Î¤P¡[º

43. [>ì³—àv¡û¡ [¤ì¤W¡>à A¡¹ç¡> :

‘"¸àì³ài¢¡àÒüì\Å>’ ¤ºìt¡ ë¤àc¡àÚ

1. ƒõÅ¸ Î´š[v¡¹ ¹àÒüi¡ "óô¡

2. "ƒõÅ¸ Î´š[v¡¹ ¹àÒüi¡ "óô¡

3. A¡à¿[>A¡ Î´š[v¡¹ ¹àÒüi¡ "óô¡

l¡üšì¹¹ ëA¡à>[i¡ Ît¡¸?

(A) 1 &¤} 2

(B) 2 &¤} 3

(C) Ç¡‹å³ày 1

(D) Ç¡‹å³ày 2

44. Î´š[v¡¹ \ã¤>A¡àìº¹ ëÅìÈ >tå¡> Î´š[v¡
ëA¡>à¹ \>¸ (šø[t¡Ñ‚àš>) "¤W¡ìÚ¹ \>¸ ‹à™¢
t¡Ò[¤º ¤àÒüì¹¹ ¤¸¤ÎàìÚ [¤[>ìÚàK A¡¹à ÒÚ¡ú &Òü 
š‡ý¡[t¡ìA¡ ¤ìº

(A) "¸à>åÒü[i¡ ë³=l¡

(B) šø[t¡šè¹A¡ ®¡àr¡à¹ ë³=l¡

(C) šø[t¡Ñ‚àš> ë³=l¡

(D) [l¡ìšÃÅ> ë³=l¡

45. ‘¤Ãå [W¡šô’ ëÅÚàì¹¹ "=¢ Òº

(A) ëÅÚà¹ ¤à\àì¹ [>¤Þê¡ãAõ¡t¡ ëÅÚà¹

(B) ë™ ëÅÚàì¹ Î¹A¡à¹ K¸à¹à[–i¡ ëƒÚ

(C) ë™ ÎA¡º ëÅÚàì¹ Î¤Î³Ú l¡ü‹k¢Òàì¹ º®¡¸à}Å 
šà*Úà ™àÚ

(D) šø=³ ¤à¹ ë™Î¤ ëÅÚà¹ [¤[º A¡¹à ÒÚ
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46. Which one of the following is best

option to test long-term solvency?

(A) Liquidity ratio

(B) Debt-equity ratio

(C) Capital gearing ratio

(D) Rate of return

47. The simplest method of evaluating

capital expenditure project is

(A) internal rate of return method

(B) average rate of return method

(C) payback period method

(D) None of the above

48. The minimum sale below which a

project would not be recommended

is called

(A) profit point

(B) break-even point

(C) cut-off point

(D) None of the above

49. What is the accepted standard for

current ratio?

(A) 2 : 1

(B) 1 : 2

(C) 2 : 3

(D) 1 : 3

46. ƒãQ¢A¡àºã> ˜¡oìÅà‹ ë™àK¸t¡à [>o¢ìÚ¹ \>¸ l¡ü;Aõ¡Ê¡ 
">åšàt¡ ëA¡à>[i¡? 

(A) t¡¹ºt¡à [>ìƒ¢ÅA¡ ">åšàt¡

(B) ëƒ>à-³à[ºA¡à>à ">åšàt¡

(C) ³èº‹> [¤>¸àÎ ">åšàt¡

(D) ëó¡¹ìt¡¹ Òà¹

47. ƒãQ¢ì³Úàƒã ³èº‹> Î³[Þt¡ ¤¸¤ÎàìÚ¹ ³èº¸àÚì>¹
Î¤ìW¡ìÚ ÎÒ\ š‡ý¡[t¡ Òº

(A) Òü–i¡à¹>àº ë¹i¡ "ó¡ [¹i¡à>¢ š‡ý¡[t¡

(B) "¸à®¡àì¹\ ë¹i¡ "ó¡ [¹i¡à>¢ š‡ý¡[t¡

(C) ëš-ë¤A¡ [š[¹Úl¡ š‡ý¡[t¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

48. ë™ >è¸>t¡³ [¤yû¡Ú š[¹³ào >à =àA¡ìº ëA¡à>
¤¸¤ÎàìA¡ W¡ºà¹ l¡üšì™àKã ¤ºà ™àÚ >à t¡àìA¡ ¤ìº

(A) šø[ó¡i¡ šìÚ–i¡

(B) ë¤øA¡-Òüì®¡> šìÚ–i¡

(C) A¡ài¡-"óô¡ šìÚ–i¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

49. W¡º[t¡ ">åšàìt¡¹ ëÛ¡ìy "àƒÅ¢ ">åšàt¡ ëA¡à>[i¡?

(A) 2 : 1

(B) 1 : 2

(C) 2 : 3

(D) 1 : 3
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50. Comparison of financial statements

highlights the trend of the _____ of

business.

(A) financial position

(B) performance

(C) profitability

(D) All of the above

51. The term ‘current asset’ does not

cover

(A) car

(B) debtors

(C) stock

(D) prepaid expenses

52. Analysis of financial statement

comprises

(A) Balance Sheet

(B) P&L A/c

(C) Trading A/c

(D) All of the above

53. Which of the following statements

are true?

1. Financial statements are only

interim report.

2. Financial statements are also

known as annual report.

3. Financial statements are

historic.

(A) Both 1 and 2

(B) Both 1 and 3

(C) Both 2 and 3

(D) All of the above

50. "à[=¢A¡ [¤¤¹oã¹ tå¡º>à³èºA¡ [¤ìÅÃÈo šøA¡àÅ A¡ì¹

(A) "à[=¢A¡ "¤Ñ‚à

(B) ƒÛ¡t¡à

(C) ºà®¡ì™àK¸t¡à

(D) l¡üšì¹¹ Î¤P¡[º

51. ™à W¡º[t¡ Î´š[v¡¹ ³ì‹¸ šìØl¡ >à t¡à Òº

(A) KàØl¡ã

(B) ëƒ>àƒà¹

(C) ³\åt¡ šo¸

(D) "[Nø³ šøƒv¡ J¹W¡

52. "à[=¢A¡ [¤¤¹oã¹ [¤ìÅÃÈo A¡¹à ÒÚ

(A) l¡ü‡t¢¡-šìy¹ ÎàÒàì™¸

(B) ºà®¡ * Û¡[t¡¹ [ÒÎàì¤¹ ÎàÒàì™¸

(C) yû¡Ú-[¤yû¡Ú [ÒÎàì¤¹ ÎàÒàì™¸

(D) l¡üšì¹¹ Î¤P¡[º

53. >ãìW¡¹ ëA¡à>ô ¤v¡û¡¤¸[i¡ Ît¡¸?

1. "à[=¢A¡ [¤¤¹oã &A¡[i¡ "”z¤t¢¡ãA¡àºã>
[¤¤¹oã¡ú

2. "à[=¢A¡ [¤¤¹oã ¤à[È¢A¡ ëšÅ A¡¹à [¤¤¹oãú

3. "à[=¢A¡ [¤¤¹oã &A¡[i¡ "t¡ãt¡¡ú

(A) 1 &¤} 2 l¡ü®¡ìÚÒü

(B) 1 &¤} 3 l¡ü®¡ìÚÒü

(C) 2 &¤} 3 l¡ü®¡ìÚÒü

(D) l¡üšì¹¹ Î¤P¡[º
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54. Cash-flow statement is also known

as

(A) statement of changes in

financial position on cash basis

(B) statement of accounting for

variation of cash

(C) Both (A) and (B)

(D) None of the above

55. Which of the following statements

is/are true?

1. Cash flow reveals only the

inflow of cash.

2. Cash flow reveals only the

outflow of cash.

3. Cash flow is a substitute of

income statement.

4. Cash-flow statement is not a

replacement of funds flow

statement.

(A) Only 1

(B) Only 2

(C) Both 2 and 3

(D) Only 4

56. Provision for taxation is treated as

(A) current liability

(B) an appropriation of profit

(C) Either (A) or (B)

(D) None of the above

57. Statement of changes in working

capital is separately prepared in

(A) cash-flow statement

(B) funds flow statement

(C) Both (A) and (B)

(D) None of the above

54. >Kƒ šø¤àÒ [¤¤¹oãìA¡ ¤ºà ÒÚ

(A) >Kƒ [®¡[v¡ìt¡ "à[=¢A¡ "¤Ñ‚à š[¹¤t¢¡ì>¹
[¤¤¹oã

(B) >Kƒ š[¹¤t¢¡ì>¹ [ÒÎà¤ [¤¤¹oã

(C) (A) &¤} (B) l¡ü®¡ìÚÒü

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

55. >ãìW¡¹ ëA¡à>ô ¤v¡û¡¤¸[i¡ Ît¡¸¡?

1. >Kƒ šø¤àÒ [¤¤¹oã Ç¡‹å >Kìƒ¹ "àK³>
šøA¡àÅ A¡ì¹¡ú

2. >Kƒ šø¤àÒ [¤¤¹oã Ç¡‹å >Kìƒ¹ ¤[ÒK¢³>
šøA¡àÅ A¡ì¹ú

3. >Kƒ šø¤àÒ [¤¤¹oã "àÚ [¤¤¹oã¹
š[¹šè¹A¡ú

4. >Kƒ šø¤àÒ [¤¤¹oã t¡Ò[¤º šø¤àÒ [¤¤¹oã¹
š[¹šè¹A¡ >Úú

(A) Ç¡‹å³ày 1

(B) Ç¡‹å³ày 2

(C) 2 &¤} 3 l¡ü®¡ìÚÒü

(D) Ç¡‹å³ày 4

56. A¡ì¹¹ \>¸ ®¡[¤È¸; ¤¸¤Ñ‚à Òº

(A) W¡º[t¡ ƒàÚ

(B) ºàì®¡¹ "[‹Aõ¡t¡ "}Å

(C) ÒÚ (A) >à ÒÚ (B)

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

57. A¡à™¢A¡¹ ³èº‹> š[¹¤t¢¡ì>¹ [¤¤¹oã šøÑñt¡ A¡¹à ÒÚ

(A) >Kƒ šø¤àÒ [¤¤¹oã šøÑñt¡ A¡¹à¹ Î³Ú

(B) t¡Ò[¤º šø¤àÒ [¤¤¹oã šøÑñt¡ A¡¹à¹ Î³Ú

(C) (A) &¤} (B) l¡ü®¡ìÚÒü

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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58. While preparing the cash-flow

statement, non-cash items and non- 

operating items are not required to

be adjusted under

(A) indirect method

(B) direct method

(C) Both (A) and (B)

(D) None of the above

59. Which of the following are sources of 

fund?

1. Issue of bonus share

2. Issue of shares against

purchase of fixed asset

3. Conversion of debentures into

shares

4. Conversion of loan into shares

(A) 1 and 3

(B) 1 and 4

(C) 1, 2, 3 and 4

(D) None of the above

60. The balance of fixed assets of

XYZ Ltd. at cost at the end of

2015 and 2016 were R 5,70,800 and 

R 6,15,300 respectively. During the

year 2016, a machinery costing

R 60,000 was sold. Determine

purchase of fixed assets.

(A) R 1,04,500

(B) R 1,40,500

(C) R 1,64,500

(D) None of the above

61. Objective of cost accounting is to

(A) link the cost to cost centre

(B) link the cost to organisation to

ascertain total profit

(C) link the cost to production

department

(D) link the cost to individual

shareholders

58. >Kƒ šø¤àÒ [¤¤¹oã šøÑñt¡ A¡¹à¹ Î³Ú >>ô-A¡¸àÅ
"àÒüìi¡³ &¤} >>ô-"šàì¹[i¡} "àÒüìi¡ì³¹ Î³ÞÚ
A¡¹à ÒÚ >à

(A) šøt¡¸Û¡ š‡ý¡[t¡ìt¡

(B) "šøt¡¸Û¡ š‡ý¡[t¡ìt¡

(C) (A) &¤} (B) l¡ü®¡Ú š‡ý¡[t¡ìt¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

59. >ãìW¡¹ ëA¡à>P¡[º t¡Ò[¤ìº¹ l¡ü;Î¹ê¡ìš Ko¸ ÒÚ?

1. ë¤à>àÎ ëÅÚà¹ [¤[ºA¡¹o

2. Ñ‚àÚã Î´š[v¡¹ š[¹¤ìt¢¡ ëÅÚà¹ [¤[º

3. ˜¡ošyìA¡ ëÅÚàì¹ ¹ê¡šà”z¹

4. ˜¡oìA¡ ëÅÚàì¹ ¹ê¡šà”z¹

(A) 1 &¤} 3

(B) 1 &¤} 4

(C) 1, 2, 3 &¤} 4

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

60. 2015 &¤} 2016 Îàìº¹ ëÅìÈ XYZ

[º[³ìi¡l¡-&¹ Ñ‚àÚã Î´š[v¡¹ ë\¹ ™=àyû¡ì³
5,70,800 i¡àA¡à * 6,15,300 i¡àA¡à
(yû¡Ú³èìº¸)¡ú 2016 Îàìº 60,000 i¡àA¡à
(yû¡Ú³èº¸) ƒàì³¹ &A¡[i¡ ™”| [¤yû¡ã A¡¹à ÒìÚìá¡ú
>tå¡> Ñ‚àÚã Î´š[v¡ yû¡Ú A¡¹à ÒìÚìá

(A) 1,04,500 i¡àA¡à¹

(B) 1,40,500 i¡àA¡à¹

(C) 1,64,500 i¡àA¡à¹

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

61. š[¹¤¸Ú [ÒÎàì¤¹ l¡üì„Å¸ Òº

(A) ¤¸ÚìA¡ ¤¸ÚìA¡ì–ƒø¹ Îàì= ™åv¡û¡ A¡¹à

(B) ºà®¡ [>‹¢à¹ìo¹ \>¸ Î}Ñ‚à¹ Îàì= ¤¸ÚìA¡
™åv¡û¡ A¡¹à

(C) ¤¸ÚìA¡ l¡ü;šàƒ> [¤®¡àìK¹ ÎìU ™åv¡û¡ A¡¹à

(D) ¤¸ÚìA¡ šø[t¡[i¡ ëÅÚà¹ìÒàÁ¡àì¹¹ ÎìU ™åv¡û¡
A¡¹à



/21 18

62. In behavioural analysis, costs are

divided into

(A) production and non-production

costs

(B) controllable and non-control-

lable costs

(C) direct and indirect costs

(D) fixed and variable costs

63. A costing method in which fixed

overheads are included in the cost of 

inventory is

(A) variable costing

(B) direct costing

(C) absorption costing

(D) process costing

64. A system of single costing is used in

the case of

(A) motor workshop

(B) hotel

(C) brick-kiln

(D) oil mill

65. Factory cost does not include

(A) indirect manufacturing cost

(B) burden

(C) factory overheads

(D) office overheads

62. šøAõ¡[t¡ ¤à "àW¡¹o ">å™àÚã ¤¸ÚìA¡ ®¡àK A¡¹à ™àÚ

(A) l¡ü;šàƒ> * ">å;šàƒ> ¤¸Ú [ÒÎàì¤

(B) [>Ú”|oì™àK¸ * "[>Ú”|oì™àK¸ ¤¸Ú [ÒÎàì¤

(C) šøt¡¸Û¡ * "šøt¡¸Û¡ ¤¸Ú [ÒÎàì¤

(D) [Ñ‚¹ * š[¹¤t¢¡>Åãº ¤¸Ú [ÒÎàì¤

63. ë™ š[¹¤¸Ú [>‹¢à¹o šø[yû¡ÚàÚ Ñ‚àÚã l¡üš[¹¤¸Ú ëA¡
l¡üšàƒà> ¤¸Ú-&¹ ÎìU "”z®¢å¡v¡û¡ A¡¹à ÒÚ t¡àìA¡
¤ìº

(A) šøà[”zA¡ (ë®¡[¹ìÚ¤ôº) š[¹¤¸Ú š‡ý¡[t¡

(B) šøt¡¸Û¡ š[¹¤¸Ú š‡ý¡[t¡

(C) [¤ìÅàÈo š[¹¤¸Ú š‡ý¡[t¡

(D) šø[yû¡Úà š[¹¤¸Ú š‡ý¡[t¡

64. [ÎìUº š[¹¤¸Ú š‡ý¡[t¡ ">åÎ¹o A¡¹à ÒÚ ë™
ëÛ¡ìy t¡à Òº

(A) KàØl¡ã Îà¹àÒü-&¹ A¡à¹Jà>à

(B) ëÒàìi¡º

(C) Òüi¡®¡ài¡à

(D) ët¡ìº¹ A¡à¹Jà>à

65. l¡ü;šàƒ> Î}yû¡à”z A¡à¹Jà>à ¤¸ìÚ "”z®¢å¡v¡û¡ =àìA¡ >à

(A) "šøt¡¸Û¡ l¡ü;šàƒ> ¤¸Ú

(B) ë¤àc¡à

(C) A¡à¹Jà>à l¡üš[¹¤¸Ú

(D) "[ó¡Î l¡üš[¹¤¸Ú
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66. Cost incurred in recruitment,

training and development of an

employee is known as

(A) replacement cost

(B) opportunity cost

(C) historical cost

(D) inputed cost

67. Which cost system applies to the

manufacture of 20 engraved doors

for a new clubhouse of a golf course?

(A) Contract

(B) Process

(C) Batch

(D) Service

68. During a period of rising prices,

which inventory pricing method will

result in lower current assets?

(A) LIFO

(B) FIFO

(C) Simple average method

(D) None of the above

69. If average cost is falling, then

(A) marginal cost is rising

(B) marginal cost is falling

(C) marginal cost is equal to

average cost

(D) it is impossible to tell if marginal 

cost is rising or falling

66. A¡³¢W¡à¹ã [>ìÚàK, šø[ÅÛ¡o &¤} l¡üÄÚ> Òüt¡¸à[ƒ¹
\>¸ ë™ ¤¸Ú A¡¹à ÒÚ t¡àìA¡ ¤ìº

(A) šå>Ñ‚¢àš> ¤¸Ú

(B) Îå[¤‹à ¤¸Ú

(C) "t¡ãt¡ ¤¸Ú

(D) "àì¹à[št¡ ¤¸Ú

67. &A¡[i¡ Kºôóô¡ ëA¡àìÎ¢¹ \>¸ 20 [i¡ A¡à¹ç¡-
A¡à™¢³[r¡t¡ ƒ¹\à ít¡¹ã¹ \>¸ ëA¡à>ô š[¹¤¸Ú
š‡ý¡[t¡ ¤¸¤Òê¡t¡ Òì¤?

(A) A¡>i¡öàC¡

(B) šøìÎÎ

(C) ¤¸àW¡

(D) Îà[®¢¡Î

68. ‰¤¸³èº¸ ¤õ[‡ý¡A¡àºã> Î³ìÚ Aò¡àW¡à³àìº¹ ³èº¸
[>‹¢à¹ìo¹ ëÛ¡ìy ëA¡à>ô š‡ý¡[t¡ W¡º[t¡ Î´š[v¡¹
³èº¸ìA¡ A¡³ ëƒJàì¤?

(A) šì¹ "àìÎ šì¹ ™àÚ š‡ý¡[t¡

(B) "àìK "àìÎ šì¹ ™àÚ š‡ý¡[t¡

(C) Î¹º KØl¡ š‡ý¡[t¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

69. ™J> KØl¡ ¤¸Ú A¡³ìt¡ =àìA¡ t¡J>

(A) šøà[”zA¡ ¤¸Ú ¤õ[‡ý¡ šàÚ

(B) šøà[”zA¡ ¤¸Ú A¡ì³

(C) KØl¡ ¤¸Ú * šøà[”zA¡ ¤¸Ú Î³à> =àìA¡

(D) šøà[”zA¡ ¤¸Ú ¤àìØl¡ ¤à A¡ì³ ¤ºà "Î´±¤



/21 20

70. In marginal costing, the following

are considered in contribution

computation.

(A) Selling price and variable cost

(B) P/V ratio and fixed cost

(C) Profit and fixed cost

(D) BEP and margin of safety

71. Closing stock R 53,400, cost of

goods sold R 75,000, gross profit

R 5,000, purchase R 82,000. What is 

the amount of opening stock?

(A) R 46,400

(B) R 41,400

(C) R 60,400

(D) R 55,400

72. The excess of actual sale over break- 

even sale is termed as

(A) contribution

(B) margin of safety

(C) fixed cost

(D) variable cost

73. When sale is R 3 lakh, fixed cost

R 30,000 and P/V ratio is 40%, then 

the profit will be

(A) R 1,50,000

(B) R 1,20,000

(C) R 80,000

(D) None of the above

70. šøà[”zA¡ š[¹¤¸Ú [>‹¢à¹o š‡ý¡[t¡ìt¡ "¤ƒà> [>‹¢à¹o 
A¡¹à¹ \>¸ ¤¸¤Òà¹ A¡¹à ÒÚ

(A) [¤yû¡Ú³èº¸ * š[¹¤t¢¡>Åãº ¤¸Ú

(B) ºà®¡ š[¹³ào ">åšàt¡ * Ñ‚àÚã ¤¸Ú

(C) ºà®¡ * Ñ‚àÚã ¤¸Ú

(D) Î³ìZáƒ [¤–ƒå * [>¹àšv¡à¹ l¡üšà”z

71. ³\åt¡ šìo¸¹ "[”z³ ë\¹ 53,400 i¡àA¡à, [¤yû¡ãt¡ 
‰ì¤¸¹ šØl¡t¡à 75,000 i¡àA¡à, ë³ài¡ ºà®¡
5,000 i¡àA¡à, yû¡Ú 82,000 i¡àA¡à, šøà¹[´±A¡
³\åt¡ A¡t¡?

(A) 46,400 i¡àA¡à

(B) 41,400 i¡àA¡à

(C) 60,400 i¡àA¡à

(D) 55,400 i¡àA¡à

72. Î³ìZáƒ [¤–ƒå¹ ëW¡ìÚ ë¤Åã "àÎº [¤yû¡ã¹ "}ÅìA¡ 
¤ºà ÒÚ

(A) "¤ƒà>

(B) [>¹àšv¡à¹ l¡üšà”z

(C) Ñ‚àÚã ¤¸Ú

(D) š[¹¤t¢¡>Åãº ¤¸Ú

73. ™J> [¤yû¡Ú 3 ºàJ i¡àA¡à, Ñ‚àÚã ¤¸Ú
30,000 i¡àA¡à, ºà®¡ š[¹³ào ">åšàt¡ 40%

t¡J> ºàì®¡¹ š[¹³ào

(A) 1,50,000 i¡àA¡à

(B) 1,20,000 i¡àA¡à

(C) 80,000 i¡àA¡à

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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74. When fixed cost is R 18,000, profit

earned is R 12,000 and break-even

sale is R 90,000, what is the actual

sale?

(A) R 1,50,000

(B) R 1,20,000

(C) R 1,40,000

(D) None of the above

75. An increase in fixed cost will result

into

(A) decrease in P/V ratio

(B) increase in break-even level

(C) decrease in per unit contribution

(D) increase in P/V ratio

76. The major object of an audit is

(A) expression of opinion

(B) detection and prevention of

fraud and error

(C) Both (A) and (B)

(D) Depends on type of audit

77. Statement on standard auditing

practices (SAPs) are important while

discharging the audit function by a

member of ICAI in case of a

company, because SAPs are

(A) prescribed by ICAI

(B) contained in the Companies

Act, 1956

(C) approved by the Department of

Company Affairs

(D) approved by the Central

Government in consultation

with Comptroller and Auditor

General

74. ™J> Ñ‚àÚã ¤¸Ú 18,000 i¡àA¡à, ºà®¡
12,000 i¡àA¡à &¤} Î³ìZáƒ [¤yû¡Ú
90,000 i¡àA¡à t¡J> "àÎº [¤yû¡Ú A¡t¡?

(A) 1,50,000 i¡àA¡à

(B) 1,20,000 i¡àA¡à

(C) 1,40,000 i¡àA¡à

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

75. Ñ‚àÚã ¤¸Ú ¤õ[‡ý¡ ëšìº

(A) ºà®¡ š[¹³ào ">åšàt¡ A¡ì³

(B) Î³ìZáƒ [¤yû¡Ú ¤àìØl¡

(C) "¤ƒà> A¡ì³

(D) ºà®¡ š[¹³ào ">åšàt¡ ¤àìØl¡

76. [>¹ãÛ¡à¹ šø‹à> l¡üì„Å¸ Òº

(A) ³t¡à³t¡ šøA¡àÅ

(B) [ÒÎàì¤ ®å¡º * \åÚàWå¡[¹ l¡ü;Qài¡> *
šø[t¡ì¹à‹

(C) (A) &¤} (B) l¡ü®¡ìÚÒü

(D) [>¹ãÛ¡à¹ šøA¡à¹ì®¡ìƒ¹ l¡üš¹ [>®¢¡¹Åãº

77. ™J> ICAI-&¹ ëA¡à> ÎƒÎ¸ ëA¡à> ëA¡à´šà>ã¹
[ÒÎà¤ [>¹ãÛ¡à A¡ì¹ t¡J> SAP "t¡¸”z P¡¹ç¡Œšèo¢ 
A¡à¹o SAP

(A) ICAI [>‹¢à¹o A¡ì¹

(B) ëA¡à´šà>ã "àÒü> 1956-ët¡ "”z®¢å¡v¡û¡

(C) ëA¡à´šà>ã Î}yû¡à”z ƒœ¡¹ ‡à¹à ">åì³à[ƒt¡

(D) CAG-&¹ Îàì= "àìºàW¡>àyû¡ì³ ®¡à¹t¡
Î¹A¡à¹ [>‹¢à¹o A¡ì¹
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78. A sale of R 10,000 to Mr. Ram was

entered as a sale to Mr. Rahim. This

is an example of

(A) error of omission

(B) error of commission

(C) compensating error

(D) error of principle

79. Of the following, which is least

persuasive type of evidence?

(A) Bank statement obtained from

the client

(B) Documents obtained from the

third parties directly by the

auditor

(C) Carbon copies of sales invoice

inspected by the auditor

(D) Computation made by the

auditor

80. Audit programme is prepared by

(A) the auditor

(B) the client

(C) the audit assistants

(D) the auditor and his audit

assistants

81. The auditor of a government

company is appointed by the CAG.

His remuneration is fixed by

(A) the CAG

(B) the shareholders

(C) the shareholders at an annual

general meeting

(D) the board of directors

78. ¹àì³¹ A¡àìá 10,000 i¡àA¡à¹ &A¡[i¡ [¤yû¡Ú
¹[Òì³¹ >àì³ [ÒÎàì¤ "”z®¢å¡v¡û¡ Òº¡ú ÒüÒà [A¡
\àt¡ãÚ ®å¡º?

(A) áàìØl¡¹ ®å¡º

(B) A¡à™¢³èºA¡ ®å¡º

(C) šè¹A¡ ®å¡º

(D) >ã[t¡Kt¡ ®å¡º

79. >ãìW¡¹ ƒ[ººP¡[º¹ ³ì‹¸ ëA¡à>[i¡ Î¤ìW¡ìÚ A¡³
[¤Å«àÎì™àK¸?

(A) ³ìB¡ìº¹ A¡àá ë=ìA¡ šà*Úà ¤¸àS¡ [¤¤¹oã

(B) [>¹ãÛ¡A¡ A¡t¢õ¡A¡ tõ¡t¡ãÚ šìÛ¡¹ A¡àá ë=ìA¡
Î¹àÎ[¹ šà*Úà ƒ[ºº

(C) [>¹ãÛ¡A¡ ‡à¹à š¹ã[Û¡t¡ [¤yû¡Ú [¤¤¹oã
(Òü>®¡ìÚÎ)-&¹ A¡à¤¢> A¡[š

(D) [>¹ãÛ¡A¡ ‡à¹à Aõ¡t¡ [ÒÎà¤

80. [>¹ãÛ¡à A¡à™¢ÎèW¡ã šøÑñt¡ A¡ì¹

(A) [>¹ãÛ¡A¡

(B) ³ìB¡º

(C) [>¹ãÛ¡à ÎÒì™àKã¹à

(D) [>¹ãÛ¡A¡ * t¡à¹ ÎÒì™àKã¹à

81. CAG Î¹A¡à¹ã ëA¡à´šà>ã¹ [>¹ãÛ¡A¡ [>ìÚàK
A¡ì¹¡ú t¡à¹ šà[¹Åø[³A¡ [>‹¢à¹o A¡ì¹

(A) CAG

(B) ëÅÚà¹ìÒàÁ¡à¹Ko

(C) ¤à[È¢A¡ Îà‹à¹o Î®¡àÚ ëÅÚà¹ìÒàÁ¡à¹Ko

(D) š[¹W¡àºA¡ šÈ¢ƒ
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82. Internal control is totally synony-

mous with

(A) internal check

(B) internal audit

(C) operational control

(D) None of the above

83. “A company has a separate legal

existence from its members.” This

principle was first laid down in case

of

(A) Salomon vs. Salomon & Co. Ltd. 

(1897)

(B) Daimler Co. Ltd. vs. Continental 

Tyre and Rubber Co. (1916)

(C) State of UP vs. Renu Sagar

Power Co. (1991)

(D) Santanu Roy vs. Union of India

(1989)

84. The system of internal check

ensures that

(A) work is distributed among the

employees according to their

merit and qualification

(B) work is completed as per

prescribed schedule

(C) work performed by one

employee is automatically

checked by another employee

(D) work performed by one

employee is checked by internal

audit staff

85. What is the systematic evaluation of

a company’s activities in a given

area of social interest, such as

environmental protection, workplace 

safety or community involvement,

called?

(A) Social responsibility

(B) Social accounting

(C) Social audit

(D) Social forecasting

82. "à®¡¸”z¹ão [>Ú”|o-&¹ Î³à=¢A¡ Òº

(A) "à®¡¸”z¹ão [>¤à¹o ¤¸¤Ñ‚à

(B) "à®¡¸”z¹ão [>¹ãÛ¡à

(C) A¡à™¢à¤ºã [>Ú”|o

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

83. ‘‘ëA¡à´šà>ã¹ &A¡[i¡ šõ=A¡ "àÒü>Kt¡ Îv¡à
"àìá¡ú’’ ÒüÒà šø=³ ëA¡à>ô ³à³ºà¹ Îàì= ™åv¡û¡?

(A) Îº³> ¤>à³ Îº³> &“¡ ëA¡à@ [º@
(1897)

(B) l¡àÚà³ºà¹ ëA¡à@ [º@ ¤>à³ A¡[–i¡ì>–i¡àº
i¡àÚà¹ &“¡ ¹à¤à¹ ëA¡à@ (1916)

(C) l¡üv¡¹šøìƒÅ ¹à\¸ ¤>à³ ë¹>å ÎàK¹ šà*Úà¹
ëA¡à@ (1991)

(D) Åà”z>å ¹àÚ ¤>à³ Òül¡ü[>Ú> "ó Òü[r¡Úà
(1989)

84. "à®¡¸”z¹ão [>¤à¹o ¤¸¤Ñ‚àÚ

(A) A¡³¢W¡à¹ãìƒ¹ ³ì‹¸ A¡à\ t¡àìƒ¹ ë™àK¸t¡à &¤} 
ë³‹à ">å™àÚã ¤si¡> A¡¹à ÒÚ

(B) šè¤¢[>‹¢à[¹t¡ t¡ó¡[Åº ">å™àÚã A¡àì\¹
š[¹Î³à[œ¡ Qìi¡

(C) &A¡\> A¡³¢W¡à¹ã¹ A¡à\ ">¸\> ‡à¹à
š¹ã[Û¡t¡ ÒÚ

(D) &A¡\> A¡³¢W¡à¹ã¹ A¡à\ "à®¡¸”z¹ão [>¹ãÛ¡A¡
‡à¹à š¹ã[Û¡t¡ ÒÚ

85. ëA¡à> ëA¡à´šà>ã¹ A¡³¢ìÛ¡ìy¹ Îà³à[\A¡ Ñ¬à=¢
ë™³> š[¹ì¤Å Î}¹Û¡o, A¡³¢ìÛ¡ìy [>¹àšv¡à
Òüt¡¸à[ƒ¹ [>Ú³à>åK ³èº¸àÚ>ìA¡ [A¡ ¤ºà ÒÚ?

(A) Îà³à[\A¡ ƒàÚ¤‡ý¡t¡à

(B) Îà³à[\A¡ [ÒÎà¤¹Û¡o

(C) Îà³à[\A¡ [>¹ãÛ¡à

(D) Îà³à[\A¡ šè¤¢à®¡àÎ
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86. In verification of assets, the duty of

the auditor is

(A) to ensure that the asset has

actually been acquired

(B) to ensure that they are clearly

stated in the Balance Sheet

(C) to satisfy himself that they are

properly valued

(D) to satisfy himself with regard to

the existence, ownership and

value of the asset

87. Which of the following statements is

true about management audit?

(A) Management audit is made

compulsory and statutory.

(B) Management audit is a

programme of one year.

(C) Management audit cannot be

conducted by an independent

person.

(D) No time limit can be fixed for

submission of report under

management audit.

88. Which of the following statements

relating to audit programme is not

correct?

(A) The auditor cannot defend

himself on the basis of audit

programme if there is a charge

of negligence against him.

(B) It is useful basis for planning

the programme for the

subsequent year.

(C) It helps in the final review before 

the report is signed.

(D) It simplifies the allocation of

work amongst the audit staff.

89. The following are categories of Audit

Reports, except

(A) qualified report

(B) unqualified report

(C) adverse report

(D) All of the above

86. Î´š[v¡¹ "[ÑzŒ ™àW¡àÒüA¡¹ìo [>¹ãÛ¡ìA¡¹ A¡t¢¡¤¸
Òº

(A) Î´š[v¡[i¡ "àÎìº "\¢> A¡¹à ÒìÚìá [A¡>à
t¡à ëƒJà

(B) Î´š[v¡[i¡ l¡ü‡t¢¡-šìy [k¡A¡ [k¡A¡ ®¡àì¤
ëƒJàì>à ÒìÚìá [A¡>à t¡à ëƒJà

(C) Î´š[v¡¹ ³èº¸àÚ> [k¡A¡ ÒìÚìá [A¡>à t¡à
ëƒJà

(D) [>ì\ìA¡ Î´š[v¡[i¡¹ Î[k¡A¡ ³à[ºA¡à>à,
"[ÑzŒ * ³èº¸àÚ> Î´šìA¢¡ [>[ÆW¡t¡ A¡¹à

87. ¤¸¤Ñ‚àš>à [>¹ãÛ¡à¹ ëÛ¡ìy [>³—[º[Jt¡ ëA¡à>ô
l¡ü[v¡û¡[i¡ Î[k¡A¡?

(A) ¤¸¤Ñ‚àš>à [>¹ãÛ¡à &A¡[i¡ "à¤[Å¸A¡ *
"àÒü>Î´¶t¡ [>¹ãÛ¡à¡ú

(B) ¤¸¤Ñ‚àš>à [>¹ãÛ¡à &A¡ ¤;Î¹ Ñ‚àÚã ÒÚú

(C) ëA¡à> Ñ¬à‹ã> ¤¸[v¡û¡ ‡à¹à ¤¸¤Ñ‚àš>à [>¹ãÛ¡à
ÒÚ >àú

(D) ¤¸¤Ñ‚àš>à [>¹ãÛ¡à¹ ëÛ¡ìy [¹ìšài¢¡ ëšìÅ¹
ëA¡à> Î³ÚÎã³à [>[ƒ¢Ê¡ A¡¹à ™àÚ >àú

88. [>¹ãÛ¡à¹ A¡³¢ÎèW¡ã Î´¬ìÞê¡ >ãìW¡¹ ëA¡à>ô l¡ü[v¡û¡[i¡
Î[k¡A¡ >Ú?

(A) [>¹ãÛ¡ìA¡¹ "¤ìÒºà\[>t¡ ëA¡à> yç¡[i¡¹
\>¸ [>¹ãÛ¡à¹ A¡³¢ÎèW¡ãìA¡ ƒàÚã A¡ì¹ [>ì\ìA¡ 
¹Û¡à A¡¹ìt¡ šàì¹ >à¡ú

(B) š¹¤t¢¡ã ¤;Îì¹¹ š[¹A¡¿>à¹ \>¸ ÒüÒà
&A¡[i¡ šøìÚà\>ãÚ [®¡[v¡ú

(C) [¹ìšài¢¡ ÎÒü A¡¹à¹ "àìK ÒüÒà¹ ÎàÒàì™¸
Wè¡Øl¡à”z š™¢àìºàW¡>à A¡¹à ™àÚú

(D) ÒüÒà [>¹ãÛ¡A¡ A¡³¢ãìƒ¹ ³ì‹¸ A¡³¢¤si¡ìA¡ ÎÒ\ 
A¡ì¹ú

89. [>³—[º[Jt¡ Î¤P¡[º [>¹ãÛ¡ìA¡¹ šø[t¡ì¤ƒì>¹
šøA¡à¹ &A¡³ày áàØl¡à, t¡à Òº

(A) Åt¢¡à‹ã> šø[t¡ì¤ƒ>

(B) [>@Åt¢¡ šø[t¡ì¤ƒ>

(C) šø[t¡Aè¡º šø[t¡ì¤ƒ>

(D) l¡üšì¹¹ Î¤P¡[º
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90. Management auditor should have

thorough knowledge of

(A) financial accounting

(B) production technique

(C) costing system

(D) All of the above

91. One of the advantages of

partnership form of organisation is

that

(A) all partners always have limited

liability

(B) shares can be sold at stock

market

(C) the business survives  after the

death of the partners

(D) the business has access to more 

capital than a sole trader

92. One of the disadvantages of sole

trader business is that

(A) capital is limited to owner’s

savings and bank loans

(B) decisions take too long to make

(C) as they are government owned,

there is no profit motive

(D) the owners may disagree in

different issues

93. Which of the following statements

best applies to a public limited

company?

(A) It is owned by the government

and is in the public sector.

(B) It is owned by shareholders who 

can sell their shares in the stock 

exchange.

(C) It is quick and easy to set up

with few legal formalities.

(D) Its accounts can be kept private.

90. &A¡\> ¤¸¤Ñ‚àš>à [>¹ãÛ¡ìA¡¹ [>³—[º[Jt¡ ëA¡à>ô
[¤ÈìÚ šåTà>åšåT `¡à> =àA¡à W¡àÒü?

(A) "à[=¢A¡ [ÒÎà¤¹Û¡o

(B) l¡ü;šàƒ> šø[yû¡Úà

(C) š[¹¤¸Ú [>o¢Ú š‡ý¡[t¡

(D) l¡üšì¹¹ Î¤P¡[º

91. "}Åãƒà¹ã A¡à¹¤àì¹¹ &A¡[i¡ Îå[¤‹à Òº

(A) ÎA¡º "}Åãƒà¹ìƒ¹ Îã[³t¡ ƒàÚ

(B) ëÅÚà¹ ¤à\àì¹ ëÅÚà¹ [¤yû¡ã A¡¹à ™àÚ

(C) "}Åãƒà¹ìƒ¹ ³õtå¡¸¹ š¹* ¤¸¤Îà ¤\àÚ
=àìA¡

(D) &A¡³à[ºA¡à>à A¡à¹¤àì¹¹ ëW¡ìÚ ë¤Åã ³èº‹>
ë™àKàì>¹ Î´±à¤>à =àìA¡

92. &A¡³à[ºA¡à>à A¡à¹¤àì¹¹ &A¡[i¡ "Îå[¤‹à Òº

(A) ³à[ºìA¡¹ Îe¡Ú * ¤¸àS¡ ˜¡o-&¹ ³ì‹¸Òü
³èº‹> Îã³à¤‡ý¡

(B) [Î‡ý¡à”z [>ìt¡ Jå¤ ëƒ¹ã ÒÚ

(C) Î¹A¡à¹ã ³à[ºA¡à>à Ò*Úà¹ ƒ¹ç¡> ³å>àó¡à¹
l¡üì„Å¸ =àìA¡ >à

(D) ³à[ºA¡Ko [¤[®¡Ä [¤ÈìÚ &A¡³t¡ Òìt¡
šàì¹ >à

93. >ãìW¡¹ [¤¤õ[t¡P¡[º¹ ³ì‹¸ ëA¡à>[i¡ šà¤[ºA¡
[º[³ìi¡l¡ ëA¡à´šà>ã¹ ëÛ¡ìy Î¤ìW¡ìÚ ë¤Åã
šøì™à\¸?

(A) &[i¡ Î¹A¡àì¹¹ ³à[ºA¡à>à‹ã> * Î¹A¡à¹ã
ëÛ¡ìy¹ "”z®¢å¡v¡û¡¡ú

(B) &[i¡ ëÅÚà¹ìÒàÁ¡à¹ìƒ¹ ³à[ºA¡à>à‹ã> ™à¹à
t¡àìƒ¹ ëÅÚà¹, ëÅÚà¹ ¤à\àì¹ [¤yû¡ã A¡¹ìt¡ 
šàì¹¡ú

(C) ÒüÒà Ñ‚àš> A¡¹à ÎÒ\ * A¡³ "àÒü[>
\[i¡ºt¡à Î´šÄú

(D) ÒüÒà¹ [ÒÎà¤ \>Î³ìÛ¡ "à>ìt¡ ÒÚ >àú
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94. Which of the following does not form 

part of an organisation’s micro-

environment?

(A) Intermediaries

(B) Customers

(C) Statute legislation

(D) Suppliers

95. The essential purpose of all business 

organisations is to

(A) make maximum level of profit

(B) make a satisfactory level of

profit

(C) transform input to output

(D) be a good citizen

96. Ethical behaviour needs to be consi- 

dered by business organisations

because

(A) the customer knows best and

organisation must always do

what customer wants

(B) customer may not always

appreciate the consequences of

their action

(C) there is always a legal

requirement to act ethically

(D) ethic is the same as law

97. Market that enables new issues of

equity to be traded is called

(A) primary market

(B) secondary market

(C) discount market

(D) All of the above

94. [>ì³—¹ ëA¡à>[i¡ &A¡[i¡ ¤¸¤ÎàÚ Î}Kk¡ì>¹
">åš[¹ì¤Å [ÒìÎì¤ Ko¸ ÒÚ >à?

(A) ³‹¸Ñ‚t¡àA¡à¹ã

(B) ëyû¡t¡à

(C) "àÒü>

(D) ë™àKà>ƒà¹

95. &A¡[i¡ ¤¸¤ÎàÚ Î}Kk¡ì>¹ ³èº l¡üì„Å¸ Òº

(A) Î¤¢à[‹A¡ ³å>àó¡à "\¢> A¡¹à

(B) Îì”zàÈ\>A¡ ³å>àó¡à "\¢> A¡¹à

(C) l¡üšàƒà>ìA¡ l¡ü;šàƒì> ¹ê¡šà”z[¹t¡ A¡¹à

(D) &A¡\> Î; >àK[¹A¡ Ò*Úà

96. ¤¸¤ÎàÚ Î}Kk¡ì>¹ í>[t¡A¡ "àW¡¹ìo¹ ³à>¸t¡à
šøìÚà\>ãÚ A¡à¹o

(A) ëyû¡t¡à Î¤ìW¡ìÚ ®¡àº \àì> * ¤¸¤ÎàÚãìA¡
ëyû¡t¡à¹ šá–ƒ ">å™àÚã A¡à\ A¡¹ìt¡ ÒÚ

(B) ëyû¡t¡à¹ šø[t¡[yû¡Úà ëyû¡t¡à¹ [>ì\¹* šá–ƒ
>à Òìt¡ šàì¹

(C) í>[t¡A¡ "àW¡¹ìo¹ ëÛ¡ìy "àÒüì>¹* Î³=¢>
"àìá

(D) >ã[t¡ &¤} "àÒü> Î³à=¢A¡

97. ë™ ¤à\àì¹ >tå¡> ëÅÚà¹ [¤[yû¡ ÒÚ t¡àìA¡ ¤ìº

(A) šøàÒü³à¹ã ³àìA¢¡i¡

(B) ëÎìA¡“¡à¹ã ³àìA¢¡i¡

(C) [l¡ÎA¡àl¡ü–i¡ ³àìA¢¡i¡

(D) l¡üšì¹¹ Î¤P¡[º
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98. Which of the following instruments

is used by the public directly to lend

the government?

(A) Bank deposit

(B) Public provident fund

(C) Treasury bill

(D) Certificate of deposit

99. Indigenous bankers are regulated by

(A) Reserve Bank of India

(B) Ministry of Finance

(C) Registrar of Cooperative

Societies

(D) None of the above

100. In commodity market, the option to

give delivery is given during a period

is identified as

(A) delivery period

(B) delivery notice period

(C) settlement period

(D) notice period

101. Market in which transactions are

done through computers and

telephone without any specific

location is classified as

(A) past-counter market

(B) future-counter market

(C) over-counter market

(D) capital-counter market

98. [>ì³—¹ ëA¡à>[i¡¹ ³à‹¸ì³ \>Ko Î¹A¡à¹ìA¡
Î¹àÎ[¹ ˜¡o [ƒìÚ =àìA¡?

(A) ¤¸àS¡ "à³à>t¡

(B) šà¤[ºA¡ šø[®¡ìl¡“¡ ó¡à“¡

(C) ëi¡ö\à¹ã [¤º

(D) \³à¹ Å}Îàšy

99. ëƒÅ\ ¤¸àS¡à¹ìƒ¹ [>Ú”|oA¡à¹ã Î}Ñ‚à Òº

(A) ®¡à¹t¡ãÚ [¹\à®¢¡ ¤¸àS¡

(B) "=¢³”|A¡

(C) Î³¤àÚ Î}Ñ‚à [>¤Þê¡A¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

100. ‰ì¤¸¹ ¤à\àì¹ ‰¤¸ Î¹¤¹àìÒ¹ Î³ÚÎã³à
[>‹¢à¹ìo¹ šá–ƒ \à>àì>à¹ Î³ÚìA¡ ¤ºà ÒÚ

(A) ël¡[º®¡à¹ã [š[¹Úl¡

(B) ël¡[º®¡à¹ã ë>à[i¡Å [š[¹Úl¡

(C) ëÎìi¡ºì³–i¡ [š[¹Úl¡

(D) ë>à[i¡Å [š[¹Úl¡

101. [>[ƒ¢Ê¡ Ñ‚à> ¤¸[t¡ì¹ìA¡ ë™ ¤à\àì¹ A¡[´šl¡üi¡à¹ *
ëi¡[ºìó¡àì>¹ ³à‹¸ì³ ëº>ìƒ> A¡¹à ÒÚ t¡àìA¡
¤ìº

(A) šàÐ¡ A¡àl¡ü–i¡à¹ ³àìA¢¡i¡

(B) [ó¡l¡üW¡à¹ A¡àl¡ü–i¡à¹ ³àìA¢¡i¡

(C) *®¡à¹ A¡àl¡ü–i¡à¹ ³àìA¢¡i¡

(D) A¡¸à[ši¡àº A¡àl¡ü–i¡à¹ ³àìA¢¡i¡
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102. Relaxing the restrictions and

controls imposed on business and

industry means

(A) liberalisation

(B) privatisation

(C) globalisation

(D) None of the above

103. The broad categories of business

activities are

(A) trade and commence

(B) trade and industry

(C) industry and commerce

(D) None of the above

104. Which of the following business risk

characteristics is not correct?

(A) Loss is the reward of risk

bearing

(B) Business risks are due to

uncertainties

(C) Risk is an essential component

of every business

(D) Degree of risks depends mainly

upon the nature and size of

business

105. Commerce includes activities

relating to trade and _____ to trade.

(A) supporting

(B) subsidiaries

(C) auxiliaries

(D) None of the above

102. ¤¸¤Îà * [Åì¿¹ ëÛ¡ìy [>Ú”|ìo¹ [Å[=ºt¡àìA¡
¤ºà ÒÚ

(A) l¡üƒà¹ãA¡¹o

(B) ë¤Î¹A¡à¹ãA¡¹o

(C) [¤Å«àÚ>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

103. ¤¸¤Îà[ÚA¡ A¡à\A¡ì³¢¹ Îà‹à¹o [¤®¡àKP¡[º Òº

(A) ¤¸¤Îà * ¤à[o\¸

(B) ¤¸¤Îà * [Å¿

(C) [Å¿ * ¤à[o\¸

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

104. ¤¸¤ÎàìÚ¹ ëÛ¡ìy cåò¡[A¡¹ [>³—[º[Jt¡ ëA¡à>ô
í¤[ÅÊ¡¸[i¡ [k¡A¡ >Ú?

(A) cåò¡[A¡ ¤Òì>¹ šå¹ÑHà¹ ÒìZá Û¡[t¡

(B) ¤¸¤ÎàìÚ¹ cåò¡[A¡ ÒìZá "[>ÆW¡Út¡à¹ ó¡Îº

(C) ¤¸¤ÎàìÚ¹ ÎìU cåò¡[A¡ "UàUã®¡àì¤ \[Øl¡t¡

(D) cåò¡[A¡¹ ³àyà ¤¸¤ÎàìÚ¹ šøAõ¡[t¡ * "àÚt¡>
[>®¢¡¹

105. ¤à[oì\¸¹ A¡à\A¡ì³¢¹ "”z®¢å¡v¡û¡ Òº ¤¸¤Îà *
¤¸¤Îà¹

(A) Î³=¢>A¡à¹ã

(B) Îà¤[Î[l¡Úà[¹

(C) ÎÒàÚA¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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106. “Management is the process of

getting things done through the

agency of a community.” This

definition is given by

(A) Sir Charles Renold

(B) Henri Fayol

(C) Lawrence A. Appley

(D) None of them

107. The first woman authority of

management is

(A) Mary Parkett Follet

(B) Lillian Gilbreth

(C) T. N. White Head

(D) None of them

108. The concept of management and

administration is

(A) same

(B) different

(C) partly same partly different

(D) two sub factors of one main

function

109. CPM stands for

(A) Common Project Management

(B) Critical Path Method

(C) Critical Programming Method

(D) None of the above

110. Staffing function deals with

(A) machines

(B) raw materials

(C) men

(D) None of the above

106. “Man age ment is the pro cess of

get ting things done through the

agency of a com mu nity.” &Òü Î}`¡à¹
šø¤t¢¡A¡ Òìº>

(A) Î¸à¹ W¡àº¢Î ë¹>Á¡

(B) ëÒ>¹ã ëó¡Úº

(C) ºì¹X &. "¸àšìº

(D) l¡üšì¹¹ ëA¡l¡üÒü >>

107. šø=³ ³[Òºà ¤¸¤Ñ‚àš>à [¤ìÅÈ`¡ Òìº>

(A) ë³¹ã šà¹ìA¡i¡ ó¡ìºi¡

(B) [º[ºÚà> [Kºì¤ø=

(C) [i¡. &>. ëÒàÚàÒüi¡ ëÒl¡

(D) l¡üšì¹¹ ëA¡l¡üÒü >>

108. ¤¸¤Ñ‚àš>à &¤} šøÅàÎì>¹ ‹à¹oà

(A) &A¡Òü

(B) [®¡Ä

(C) "}Åt¡ &A¡ "}Åt¡ [®¡Ä

(D) &A¡Òü A¡àì\¹ ƒå[i¡ l¡üš[¤®¡àK

109. CPM-&¹ šèo¢¹ê¡š Òº

(A) Common Project Management

(B) Critical Path Method

(C) Critical Programming Method

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

110. A¡³¢ã ¤¸¤Ñ‚àš>à¹ ÎìU ™åv¡û¡ Òº

(A) ™”|šà[t¡

(B) Aò¡àW¡à³àº

(C) ³à>åÈ

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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111. ¤¸¤Ñ‚àš>à¹ ëÛ¡ìy &A¡\> ¤¸¤Ñ‚àšìA¡¹ Î¹àÎ[¹
"‹ãì> ™t¡\> "‹Ñz> A¡³¢ã =àìA¡ t¡àìA¡
¤¸¤Ñ‚àš>à¹ ®¡àÈàÚ ¤ìº

(A) A¡[³l¡ü[>ìA¡Åà>

(B) ëA¡à-"¹[l¡ì>Åà>

(C) [ºl¡à¹[Åš

(D) Ñšà> "ó¡ A¡ì–i¡öàº

112. ëA¡ïÅºKt¡ A¡³¢ã ¤¸¤Ñ‚àš>àÚ ³à>¤Î´šƒ
Î´š[A¢¡t¡ ëA¡ïÅº Îà‹à¹ot¡ Î}™åv¡û¡ =àìA¡

(A) ¤¸¤ÎàÚ ëA¡ïÅº-&¹ ÎìU

(B) "=¢ Î}yû¡à”z ëA¡ïÅº-&¹ ÎìU

(C) ¤à\à¹ Î}yû¡à”z ëA¡ïÅº-&¹ ÎìU

(D) "=¢î>[t¡A¡ ëA¡ïÅº-&¹ ÎìU

113. [>³—¤[o¢t¡ ëA¡à>[i¡ ¤¸[v¡û¡Kt¡ Îå[¤‹à >Ú?

(A) [ÎA¡ [º®¡

(B) ëóÃ¡G ë¤[>[ó¡i¡

(C) ëÎºÎ ë¤à>àÎ

(D) ël¡–i¡àº šÃ¸à>

114. [>ì³—¹ ëA¡à>ô šøàš¸[i¡ ë³ài¡ [¤yû¡ìÚ¹ š[¹³àìo¹
Åt¡à}ìÅ [>‹¢à¹o A¡¹à ÒÚ?

(A) ³å>àó¡à¹ "}Å

(B) [šÎ*ÚàA¢¡

(C) A¡[³Å>

(D) ë¤à>àÎ

111. In management practice, the

number of subordinates for whom a

manager is directly responsible is

called

(A) communication

(B) coordination

(C) leadership

(D) span of control

112. In strategic human resource

management, HR strategies are

generally aligned with

(A) business strategy

(B) finance strategy

(C) marketing strategy

(D) economic strategy

113. Which of the following is not a

personal benefit?

(A) Sick leave

(B) Flex benefit

(C) Sales bonus

(D) Dental plan

114. Which of the following is a

percentage on the volume of sale?

(A) Profit sharing

(B) Piecework

(C) Commission

(D) Bonus
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115. What is the full form of CRM?

(A) Customer Relationship

          Management

(B) Customer Resource

          Management

(C) Consumer Relationship 

          Management

(D) None of the above

116. Which of the following is a

marketing advantage of strong

brand?

(A) General loyalty

(B) Larger margin

(C) Greater financial market

returns

(D) All of the above

117. First step to cost-based pricing

strategy is to

(A) design a product

(B) determine cost of product

(C) set price based on cost

(D) convince buyer about products

value

118. Financial management closely

relates to

(A) asset side of the Balance Sheet

(B) liabilities side of the Balance

Sheet

(C) both sides of the Balance Sheet

(D) None of the above

115. CRM-&¹ šèo¢¹ê¡š [A¡?

(A) Customer Relationship

          Management

(B) Customer Resource

          Management

(C) Consumer Relationship 

          Management

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

116. &A¡[i¡ >à[³ ¤ø̧ àì“¡¹ ¤à\à¹\àt¡A¡¹o\[>t¡ Îå[¤‹à
Òº

(A) ¤ø¸àì“¡¹ šø[t¡ Îà‹à¹o "à>åKt¡¸

(B) "[‹A¡ ºà®¡

(C) "[‹A¡t¡¹ "=¢ "àK³>

(D) l¡üšì¹¹ Î¤P¡[º

117. ¤¸Ú[®¡[v¡A¡ ƒà³ [>‹¢à¹ìo¹ šø=³ ‹àš Òº

(A) šìo¸¹ áòàW¡ [>³¢ào

(B) šìo¸¹ ¤¸Ú [>‹¢à¹o

(C) ¤¸Ú[®¡[v¡A¡ ³èº¸ [>‹¢à¹o

(D) ‰ì¤¸¹ ³àì>¹ [>ÆW¡Út¡àA¡¹o

118. "à[=¢A¡ ¤¸¤Ñ‚àš>à¹ ÎìU Q[>Ë¡®¡àì¤ Î´š[A¢¡t¡
Òº

(A) l¡ü‡t¢¡-šìy¹ Î´š[v¡¹ [ƒA¡

(B) l¡ü‡t¢¡-šìy¹ ƒàìÚ¹ [ƒA¡

(C) l¡ü‡t¢¡-šìy¹ l¡ü®¡Ú [ƒA¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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119. A company purchases goods but

does not pay supplier immediately

and record them as

(A) accounts payable

(B) accounts receivable

(C) current liabilities

(D) accumulated liabilities

120. In Balance Sheet, sum of retained

earnings and common stocks are

considered as

(A) preferred equity

(B) due equity

(C) common perpetuity

(D) common equity

121. Albert invested an amount of

R 8,000 in a fixed deposit for 2 years 

at compound interest of 5% p.a.

How much Albert will get on the

maturity of the fixed deposit?

(A) R 8,510

(B) R 8,600

(C) R 8,730

(D) R 8,820

122. Find the simple interest on R 2,000

at 25
4

% p.a. for the period 4th Feb,

2005 to 18th April, 2005.

(A) R 25

(B) R 30

(C) R 35

(D) R 40

119. ëA¡à´šà>ã šo¸ ëA¡>à¹ š¹ ÎìU ÎìU ™[ƒ ƒà³ >à 
[³[i¡ìÚ ëƒÚ t¡àÒìº ëÎ[i¡ ë™ [ÒÎàì¤ >[=®å¡v¡û¡ ÒÚ 
ëÎ[i¡ Òº

(A) "¸àA¡àl¡ü–i¡ ëšìÚì¤º

(B) "¸àA¡àl¡ü–i¡ [¹[Îì®¡ì¤º

(C) A¡àì¹–i¡ ºàìÚ[¤[º[i¡Î

(D) "¸àAå¡³åìºìi¡l¡ ºàìÚ[¤[º[i¡Î

120. l¡ü‡t¢¡-šìy¹ "¤[–i¡t¡ ³å>àó¡à &¤} Îà‹à¹o
"}Åãƒà¹ šìy¹ ³àì>¹ ë™àKó¡º Òº

(A) ëšøó¡àl¢¡ ÒüAå¡¸Òü[i¡

(B) [l¡l¡ü ÒüAå¡¸Òü[i¡

(C) A¡³> šà¹ìšWå¡Òü[i¡

(D) A¡³> ÒüAå¡¸Òü[i¡

121. ¤à[È¢A¡ 5% W¡yû¡¤õ[‡ý¡ Îåìƒ¹ Òàì¹ &º¤ài¢¡
8,000 i¡àA¡à 2 ¤;Îì¹¹ \ì>¸ Ñ‚àÚã "à³à>t¡
A¡¹º¡ú ë³Úàƒšè[t¢¡ìt¡ ëÎ A¡t¡ ëó¡¹t¡ šàì¤?

(A) 8,510 i¡àA¡à

(B) 8,600 i¡àA¡à

(C) 8,730 i¡àA¡à

(D) 8,820 i¡àA¡à

122. 4th ëó¡¤øåÚà¹ã 2005 ë=ìA¡ 18th &[šøº
2005 Î³ÚA¡àìº¹ \>¸ 2,000 i¡àA¡à¹ 25

4
%

Î¹º Îåƒ A¡t¡ Òì¤? 

(A) 25 i¡àA¡à

(B) 30 i¡àA¡à

(C) 35 i¡àA¡à

(D) 40 i¡àA¡à



/21 33 [ P.T.O.

123. If sales tax is reduced from 5% to

4%, then what difference it will

make if you purchase an item of

R 1,000?

(A) R 10

(B) R 20

(C) R 30

(D) R 40

124. How many litres of pure acid are

there on 8·5 litres of a 20% solution?

(A) 1·5 litres

(B) 1·6 litres

(C) 1·7 litres

(D) 1·8 litres

125. If p and q are the roots of the

equation x px q2 0+ + = , then

(A) p q= = -1 2,

(B) p q= =0 1,

(C) p q= - =2 0,

(D) p q= - =2 1,

126. In an arithmetic progression (AP),

the pth term is -q and the ( )p q+ th

term is 0. Then the qth term is

(A) - p

(B) p

(C) p q+

(D) p q-

123. [¤yû¡ÚA¡ì¹¹ Òà¹ 5% ë=ìA¡ 4% Òìº
1,000 i¡àA¡à ƒàì³¹ &A¡[i¡ ‰¤¸ yû¡ìÚ¹ ëÛ¡ìy
ƒà³ A¡t¡ A¡³ì¤?

(A) 10 i¡àA¡à

(B) 20 i¡àA¡à

(C) 30 i¡àA¡à

(D) 40 i¡àA¡à

124. 8·5 [ºi¡à¹ \ºãÚ ‰¤ìo 20% "¸à[Îl¡ =àA¡ìº
l¡üv¡û¡ ‰¤ìo "¸à[Îl¡-&¹ š[¹³ào A¡t¡ [ºi¡à¹
Òì¤?

(A) 1·5 [ºi¡à¹

(B) 1·6 [ºi¡à¹

(C) 1·7 [ºi¡à¹

(D) 1·8 [ºi¡à¹

125. ™[ƒ x px q2 0+ + =  Î³ãA¡¹ìo¹ ƒå[i¡ ³èº p

&¤} q ÒÚ t¡àÒìº

(A) p q= = -1 2,

(B) p q= =0 1,

(C) p q= - =2 0,

(D) p q= - =2 1,

126. &A¡[i¡ Kà[o[t¡A¡ šøK[t¡¹ (AP) pt¡³ šƒ[i¡ -q

&¤} ( )p q+ t¡³ šƒ[i¡ 0 Òìº qt¡³ šƒ[i¡ Òì¤

(A) - p

(B) p

(C) p q+

(D) p q-
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127. If x, 2y, 3z are in arithmetic

progression, where the distinct

numbers x, y, z are in geometric

progression (GP), then the common

ratio of GP is

(A) 3

(B) 1/3

(C) 2

(D) 1/2

128. A statistical measure which cannot

be determined graphically is

(A) median

(B) mode

(C) harmonic mean (HM)

(D) arithmetic mean (AM)

129. A group of 10 items has an

arithmetic mean of 6. If the

arithmetic mean of 4 of these items

is 7·5, then the mean of the

remaining items is

(A) 6·5

(B) 5·5

(C) 4·5

(D) 5·0

130. Variance is independent of the

change of

(A) origin only

(B) scale only

(C) both origin and scale

(D) None of the above

127. ™[ƒ x, 2y, 3z Kà[o[t¡A¡ šøK[t¡ìt¡ =àìA¡
ë™Jàì> x, y, z &Òü [>[ƒ¢Ê¡ Î}J¸àP¡[º
\¸à[³[t¡A¡ šøK[t¡ìt¡ (GP) "àìá t¡J> '
GP-&¹ Îà‹à¹o ">åšàt¡[i¡ Òì¤

(A) 3

(B) 1/3

(C) 2

(D) 1/2

128. ë™[i¡ š[¹Î}J¸à>-š[¹³àš ë¹Jà[W¡ìy¹ ÎàÒàì™¸
šøA¡àÅ A¡¹à ™àÚ >à ëÎ[i¡ Òº

(A) [³[l¡Úà>

(B) ë³àl¡

(C) Òà¹ì³à[>A¡ [³> (HM)

(D) &[¹=ì³[i¡A¡ [³> (AM)

129. 10[i¡ š™¢ì¤Û¡ìo¹ KØl¡ (AM) ™[ƒ 6 ÒÚ &¤}
' š™¢ì¤Û¡ìo¹ 4[i¡¹ KØl¡ 7·5 Òìº ¤àA¡ã
š™¢ì¤Û¡oP¡[º¹ KØl¡ Òì¤

(A) 6·5

(B) 5·5

(C) 4·5

(D) 5·0

130. ™à¹ š[¹¤t¢¡ì>¹ l¡üš¹ ë®¡ƒ-&¹ š[¹¤t¢¡> [>®¢¡¹
A¡ì¹ >à ëÎ[i¡ Òº

(A) Ç¡‹å³ày ³èº

(B) Ç¡‹å³ày ³àyà

(C) ³èº * ³àyà l¡ü®¡ìÚÒü

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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131. Which of the following measures is

one of central tendency?

(A) Mode

(B) Mean deviation

(C) Standard deviation

(D) Coefficient of correlation

132. Index numbers are expressed in

terms of

(A) ratio

(B) squares

(C) percentages

(D) combination of the above

133. The most suitable average in chain-

based method is

(A) arithmetic mean

(B) median

(C) mode

(D) geometric mean

134. If the mean of a set of observations 

X X X n1 2, , ,L  is X , then the mean

of the observation x i i+ 2  ( , , , )i n= 1 2 L

is

(A) X + 2

(B) X n+ 2

(C) X n+ +( )1

(D) X n+

135. The correlation between X  and a X-

is

(A) –1

(B) 1

(C) 1/2

(D) 0

131. >ãìW¡¹ ëA¡à>ô ³àš[i¡ìA¡ ëA¡[–ƒøA¡ šø¤ot¡à¹ ³àš ¤ºà 
™àÚ?

(A) ³‹¸A¡

(B) KØl¡ [¤Wå¡¸[t¡

(C) Î³¸A¡ [¤Wå¡¸[t¡

(D) "à”zÎ´šA¢¡ ÎÒK

132. ÎèW¡A¡ Î}J¸àìA¡ šøA¡àÅ A¡¹à ÒÚ

(A) ">åšàt¡ [ÒÎàì¤

(B) ¤K¢ [ÒÎàì¤

(C) Åt¡à}Å [ÒÎàì¤

(D) l¡üšì¹¹ Î¤P¡[º¹ Î³ÞìÚ

133. ÅõTº[®¡[v¡A¡ š‡ý¡[t¡¹ Î¤ìW¡ìÚ l¡üš™åv¡û¡ KØl¡
š[¹³àš Òº

(A) Kà[o[t¡A¡ KØl¡

(B) ³‹¸³à

(C) ³‹¸A¡

(D) \¸à[³[t¡A¡ KØl¡

134. &A¡[i¡ š™¢ì¤Û¡o X X X n1 2, , ,L -&¹ KØl¡ X

Òìº x i i+ 2  ( , , , )i n= 1 2 L   š™¢ì¤Û¡o[i¡¹
KØl¡ Òì¤

(A) X + 2

(B) X n+ 2

(C) X n+ +( )1

(D) X n+

135. X  &¤} a X-  &¹ "à”zÎ´šA¢¡[i¡ Òì¤

(A) –1

(B) 1

(C) 1/2

(D) 0
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136. At different points of indifference

curve, utility is

(A) different

(B) same

(C) zero

(D) None of the above

137. For inferior goods, demand curve

(A) slopes upward from left to right

(B) slopes downward from left to

right

(C) is a circle

(D) None of the above

138. By elasticity of demand it is

generally meant

(A) cross-elasticity

(B) price elasticity

(C) income elasticity

(D) None of the above

139. Nature of elasticity of demand for

tobacco and share price is

(A) different

(B) opposite

(C) same

(D) None of the above

140. Isoquant is a form of production

function.

(A) It is false

(B) It is true

(C) It is not related

(D) None of the above

136. [>¹ìšÛ¡ ë¹Jà¹ [¤[®¡Ä [¤–ƒåìt¡ l¡üšì™à[Kt¡à

(A) [®¡Ä

(B) &A¡Òü

(C) Åè>¸

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

137. [>Aõ¡Ê¡ ‰ì¤¸¹ \ì>¸ W¡à[Òƒà ë¹Jà

(A) ¤òà[ƒA¡ ë=ìA¡ l¡à>[ƒìA¡ l¡üZW¡n¡àº Î´šÄ

(B) ¤òà[ƒA¡ ë=ìA¡ l¡à>[ƒìA¡ [>³—n¡àº Î´šÄ

(C) &A¡[i¡ ¤õv¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

138. W¡à[Òƒà¹ [Ñ‚[t¡Ñ‚àšA¡t¡à ¤ºìt¡ Îà‹à¹ot¡ ë¤àc¡àÚ

(A) šà¹Ñš[¹A¡ [Ñ‚[t¡Ñ‚àšA¡t¡à

(B) ƒà³ [Ñ‚[t¡Ñ‚àšA¡t¡à

(C) "àÚ [Ñ‚[t¡Ñ‚àšA¡t¡à

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

139. t¡à³àA¡ &¤} ëÅÚàì¹¹ ƒàì³¹ W¡à[Òƒà¹
[Ñ‚[t¡Ñ‚àšA¡t¡à¹ šøAõ¡[t¡

(A) [®¡Ä

(B) [¤š¹ãt¡

(C) &A¡Òü

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

140. Îì³à;šÄ ë¹Jà l¡ü;šàƒ> "ìšÛ¡ìA¡¹ &A¡[i¡
¹ê¡š¡ú

(A) ÒüÒà [³=¸à

(B) ÒüÒà Ît¡¸

(C) ÒüÒà Î´š[A¢¡t¡ >Ú

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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141. ™J> KØl¡ l¡ü;šàƒ> ¤õ[‡ý¡ šàÚ t¡J> šøà[”zA¡
l¡ü;šàƒ>

(A) KØl¡ l¡ü;šàƒì>¹ Î³à>

(B) ¤àìØl¡ [A¡”ñ KØl¡ l¡ü;šàƒì>¹ ëW¡ìÚ A¡³

(C) >àì³

(D) ¤àìØl¡ [A¡”ñ KØl¡ l¡ü;šàƒì>¹ ëW¡ìÚ ë¤Åã

142. Ñ¬¿A¡àºã> * ƒãQ¢A¡àºã> ¤¸Ú ë¹Jà

(A) &A¡Òü ¹A¡³

(B) [¤š¹ãt¡

(C) š¹Ñš¹ìA¡ ëáƒ A¡ì¹

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

143. š[¹¤t¢¡>Åãº ¤¸Ú š[¹º[Û¡t¡ ÒÚ Ç¡‹å³ày

(A) Ñ¬¿A¡àìº

(B) ƒãQ¢A¡àìº

(C) (A) &¤} (B) l¡ü®¡ìÚÒü

(D) (A) &¤} (B) ëA¡à>[i¡ìt¡Òü >Ú

144. &A¡[i¡ l¡ü;šàƒ> šø[t¡Ë¡àì>¹ \ì>¸ ƒà³ ëƒ*Úà
=àìA¡

(A) &A¡ìW¡[i¡Úà ¤à\àì¹

(B) "[ºìKàš[º ¤à\àì¹

(C) šèo¢šø[t¡ì™à[Kt¡à¹ ¤à\àì¹

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

145. iå¡=ìšÐ¡ * KàìÚ¹ Îà¤àì>¹ ¤à\à¹ ë™ ¤à\àì¹¹
l¡üƒàÒ¹o ëÎ[i¡ Òº

(A) šèo¢šø[t¡ì™à[Kt¡à

(B) &A¡ìW¡[i¡Úà

(C) &A¡ìW¡[i¡Úà³èºA¡ šø[t¡ì™à[Kt¡à

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

141. When average product rises,

marginal product

(A) equals average product

(B) rises but less than average

product

(C) falls

(D) rises but more than average

product

142. Short-run and long-run cost curves

(A) are same

(B) are opposite

(C) intersect each other

(D) None of the above

143. Variable cost can be observed in the

(A) short run

(B) long run

(C) Both (A) and (B)

(D) Neither (A) nor (B)

144. Price is given for a firm in

(A) monopoly market

(B) oligopoly market

(C) perfect competition market

(D) None of the above

145. Markets for toothpastes and toilet

soap are examples of

(A) perfect competition

(B) monopoly

(C) monopolistic competition

(D) None of the above
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146. Åøì³¹ ¤à\à¹ìA¡ ë™ ¤à\àì¹¹ l¡üƒàÒ¹o [ÒÎàì¤
Ko¸ A¡¹à ÒÚ ëÎ[i¡ Òº

(A) &A¡ìW¡[i¡Úà

(B) &A¡A¡ ëyû¡t¡à¹ ¤à\à¹

(C) "[ºìKàš[º

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

147. Jà\>à ë™ l¡üšàƒàì>¹ šà*>à [ÒÎàì¤ [¤ì¤[W¡t¡ ÒÚ 
ëÎ[i¡ Òº

(A) Åø³

(B) ³èº‹>

(C) Î}Kk¡>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

148. &A¡[i¡ ëƒìÅ¹ Ñ‚éº "à®¡¸”z¹ão l¡ü;šàƒ> š[¹³àš
A¡¹à ™àÚ

(A) l¡ü;šàƒ> Î³[Ê¡ [ƒìÚ

(B) ¤¸Ú Î³[Ê¡ [ƒìÚ

(C) "àÚ Î³[Ê¡ [ƒìÚ

(D) l¡üšì¹¹ Î¤P¡[º [ƒìÚ

149. šøà[”zA¡ ë®¡àK šø¤ot¡à¹ ³èº¸

(A) Åè>¸ ë=ìA¡ &ìA¡¹ ³ì‹¸ "¤Ñ‚à> A¡ì¹

(B) &A¡ ë=ìA¡ ƒåÒüìÚ¹ ³ì‹¸ "¤Ñ‚à> A¡ì¹

(C) Åè>¸ ë=ìA¡ ƒåÒüìÚ¹ ³ì‹¸ "¤Ñ‚à> A¡ì¹

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

150. šøƒv¡ [¤[>ìÚàK "ìšÛ¡ìA¡¹ ëÛ¡ìy [¤[>ìÚàK
[>®¢¡¹Åãº ÒÚ

(A) Î¹àÎ[¹ "àìÚ¹ l¡üš¹

(B) [¤š¹ãt¡®¡àì¤ "àìÚ¹ l¡üš¹

(C) Î¹àÎ[¹ Îåìƒ¹ Òàì¹¹ l¡üš¹

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

146. Labour market is considered to be

an example of

(A) monopoly

(B) monopsony

(C) oligopoly

(D) None of the above

147. Rent is regarded as a payment for

the use of

(A) labour

(B) capital

(C) organisation

(D) None of the above

148. Gross domestic product can be

measured by adding a country’s

(A) production

(B) expenditure

(C) income

(D) All of the above

149. Value of marginal propensity to

consume

(A) lies between zero and one

(B) lies between one and two

(C) lies between zero and two

(D) None of the above

150. For an autonomous investment

function, investment depends

(A) directly with income

(B) inversely with income

(C) directly with rate of interest

(D) None of the above
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11. The candidates are governed by all the rules and regulations of the Board with regard to their conduct 
in the Examination Hall/Room. All cases of unfair means will be dealt with as per rules and
regulations of the Board.

š¹ãÛ¡à Òº/A¡ìÛ¡¹ ³ì‹¸ š¹ãÛ¡à=¢ã¹ "àW¡¹o ë¤àìl¢¡¹ [>Ú³ * [>ìƒ¢[ÅA¡à ">å™àÚã W¡à[ºt¡ Òì¤¡ú Î¤ ‹¹ì>¹ ">å[W¡t¡ A¡à™¢ ë¤àìl¢¡¹ [>Ú³ *
[>ìƒ¢[ÅA¡à ">å™àÚã [>[ƒ¢Ê¡ Òì¤¡ú

12. No part of the Question Booklet and OMR Answer Sheet shall be detached under any circumstances.

ëA¡àì>à "¤Ñ‚àìt¡Òü šøÅ—šy &¤} OMR  l¡üv¡¹šìy¹ ëA¡àì>à "}Å ëáòØl¡à ¤à "àºàƒà A¡¹à ™àì¤ >à¡ú

13. On completion of the test, the candidate must hand over the OMR Answer Sheet to the Invigilator in
the Hall/Room. The candidates are allowed to take away the Question Booklet with them.

š¹ãÛ¡à ëÅÈ Ò*Úà¹ šì¹ š¹ãÛ¡à=¢ã "¤Å¸Òü tò¡à¹  OMR l¡üv¡¹šy A¡t¢¡¤¸¹t¡ Òü>[®¡[\ìºi¡ì¹¹ A¡àìá \³à ëƒì¤>¡ú š¹ãÛ¡à=¢ã¹à šøÅ—šy[i¡ tò¡àìƒ¹
Îàì= [>ìÚ ë™ìt¡ šàì¹>¡ú
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